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1900 ���������� (Hilbert) ���������������

�� 23 ������������������������������
������������	������
��������������
���������������������	�����
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����������	


������������ ax + by = c �	������� a, b ��
�����	��� c �����������������
����
����������������������	
�
� (Pell) ���
x2 − dy2 = 1, x2 −mxy + y2 = 1��������	�����������
��	������������
���	��������������
������������
�������� (Davis)���� (Robinson)� ��� (Putnam)���

�����������	��
���������� 1970 ������
�	��������� (Matiyasevich)���	���	���	����

 [10]��
��
�������������������������
�1930������������������
�
�����
�
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���������
�������
�������������
�
���������
�����������
��������������������

�������
�������������������������
�������������������������������
��
������
����������
�������������
��
������������������������
��������

C(x) = 1, S(x) = x+ 1, x+ y, x−̇y, xy, Un
i (x1, · · · , xn) = xi, 1 ≤ i ≤ n

����������������������������������
����������
�������������	���

C(x) = 1, N(x) = 0, S(x) = x+ 1, Un
i (x1, · · · , xn) = xi, i = 1, · · · , n

�����������
����������������������
�����	
�	������������������
������

����
���
�������������������
��� xy ������

1952�� ��� [17]�
���(
x

y

)
, x!,

y∏
k=1

(a+ bk)

����	 (∀k)≤y �������������������������
	�����
����

x2 − dy2 = 1
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������������������	�������	� u(x, y) ��

(1) 
�� x, y ≥ 0 �� u(x, y) ���� y < xx,

(2) ������ k ≥ 0����� x, y ≥ 0���	� u(x, y)��� y ≥ xk,

���� xy �	�
������������������
�	� z = xy

������
�������������������
������ [10]� 1970 ���������

u0 = 1, u1 = u2 = 1, un+2 = un+1 + un

�����������	����
���� xy ���������
�
������� (

x

y

)
, x!,

y∏
k=1

(a+ bk)

����	 (∀k)≤y �������������������������
�����������������
����
��������
��

1961������������� [4] �
�������������
�1975������������[13] ��	
���������	���
����������������� 1 ������ S���� N − S �
������������������
����������
���
	���
��
����������	�����

-1



0



� 1 �

����� (Computable
Functions)

	�����������������
������������
�

����������������
��

1.1 ���

��  ���(quadruple) ���	���

q1, q2, q3, · · · , S0, S1, S2, · · · , R, L
�	����	����
��������

(1) qiSjSkql.

(2) qiSjRql.

(3) qiSjLql.

	
�q1S0S1q2, q3S5Rq2, q4S5Lq1 �� ����
��	!� (expression) ���	���

q1, q2, q3, · · · , S0, S1, S2, · · ·
�	������������"�#������ qi��� qi �� ��
���$��	
�

q1S2S3S0, S1S0q3S0S8S1S2

��	!��

�� 1.1 � Z ���� ����	�������
� Z ����� �
�������� qiSj ������� Z ��� ���(Turing Machine)�

	
��

Z = {q1S1S0q1 , q1S0Rq2 , q2S1Rq2 , q2S0Lq3 , q3S1S0q3},
��������
������������ qi �� q-����� Si �� S-�����

� S-���	�������#����	�� S-���
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�� 1.2 � Z �������
	!� α, β ��	�����
�����
����

α→ β (Z)

�	!�

(1) �� S-�� P � Q �� α � PqiSjQ�β � PqlSkQ�� qiSjSkql ∈ Z�

(2) �� S-�� P � Q �� α � PqiSjSkQ� β � PSjqlSkQ�� qiSjRql ∈
Z�

(3) �� S-�� P �� α � PqiSj� β � PSjqlS0�� qiSjRql ∈ Z�

(4) �� S-�� P � Q �� α � PSkqiSjQ� β � PqlSkSjQ�� qiSjLql ∈
Z�

(5) �� S-�� Q �� α � qiSjQ�β � qlS0SjQ�� qiSjLql ∈ Z�

�	!� α ���
���	!� β �� α→ β (Z) �����	!� α �
��� Z ���

��

��� 1.2���
	!� α�� Z ���

���������	!� β
�� α → β(Z) �����
�����	!� β1, β2 �� α → β1 (Z), α →
β2 (Z) �������� Z ������������� qiSj �!� ��

������ 1.1 %��
�� S0, S1 �	��"	��������������������

���� B &	 S0���� 1 &	 S1� ������� n� ����
� n &	 n + 1 � 1 �	�� S-������ n1, n2, · · · , nk &	 S-��
n1Bn2B · · ·Bnk�	
 3 = 1111� 2, 3, 0 = 2B3B0 = 111B1111B1�

�� 1.3 � M ���	!���� 〈M〉 &	 1 � M �������

	
�〈11BS4q3B〉 = 2, 〈q3S2S5〉 = 0, 〈q2n− 1〉 = n�
� Z �������α1 ���	!��
�����	!� α2, · · · , αn

(n ≥ 2) ��
αi → αi+1(Z), 1 ≤ i < n,

� αn � Z ���

���� α1 � Z ��������� ResZ(α1)�&	
��� �

� αn
'(�� α1 � Z ������� ResZ(α1) �����
����"�	����� N &	�������	�����

�� 1.4 � Z ������� n ���

ψ
(n)
Z (x1, · · · , xn)

��
	��	!� α1 = q1m1, · · · , mn, m1, m2, · · · , mn ∈ N
(1) 
 α1 � Z ����������

ψ
(n)
Z (m1, · · · , mn) = 〈ResZ(α1)〉;

(2) 
 α1 � Z �������� ψ
(n)
Z (m1, · · · , mn) ����������

(m1, · · · , mn) ���� ψ
(n)
Z (x1, · · · , xn) ������

������ ψ
(1)
Z (x) ��� ψZ(x)�
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1.2 ���������

�� 1.5 
�� f(x1, · · · , xn) ��� ��� �
���� Nn ���	��
������� Z ��

f(x1, · · · , xn) = ψ
(n)
Z (x1, · · · , xn),

���� f(x1, · · · , xn) ����
��� (computable function)����� f
� �
���

��� 1.5 ����
��� f(x1, · · · , xn) ����� Nn���� N ���
)����	����
����	)�

�� 1.1 �� A(x, y) = x+ y ��
�������

ZA = {q11Bq1, q1BRq2, q21Rq2, q2BRq3, q31Bq3}.
	!� α1 = q1m1, m2, m1, m2 ∈ N ���� ZA ����	���

α1 = q1m1, m2 = q1m1Bm2

= q111m1B11m2

→ q1B1m1B11m2

→ Bq21
m1B11m2

→ · · · · · ·
→ B1m1q2B11m2

→ B1m1Bq311m2

→ B1m1Bq3B1m2 = ResZA
(α1).

��

A(m1, m2) = m1 +m2 = 〈B1m1Bq3B1m2〉 = 〈ResZA
(α1)〉 = ψ

(2)
ZA

(m1, m2),

���� A(x, y) = x+ y ��
���

�� 1.2 �� S(x) = x+ 1 ��
�������

ZS = {q1S1S1q2}.
	!� α1 = q1m, m ∈ N ���� ZS ����	���

α1 = q1m→ q2m = ResZS
(α1).

��

S(m) = m+ 1 = 〈q2m〉 = 〈ResZS
(α1)〉 = ψZS

(m),

���� S(x) = x+ 1 ��
���

3



�� 1.3 ��

B(x, y) = x−̇y =

{
x− y, x ≥ y
0, x < y

��
������� ZB ��	 �������

q11Bq1, q1BRq2,

q21Rq2, q2BRq3,

q31Rq3, q3BLq4,

q41Bq4, q4BLq5,

q51Lq6, q61Lq6,

q6BLq7, q71Lq8,

q7BRq9, q81Lq8,

q8BRq1, q9BRq10,

q101Bq9.

(1) 
 m1, m2 ∈ N,m1 ≥ m2, k = m1 −m2��	!� α1 = q1m1, m2 ����

ZB ����	���

α1 = q1m1Bm2

= q111m21kB1m2+1

→ q1B1m21kB1m2+1

→ Bq21
m21kB1m2+1

→ · · ·
→ B1m21kq2B1m2+1

→ B1m21kBq31
m2+1

→ · · ·
→ B1m21kB1m21q3B

→ B1m21kB1m2q41B

→ B1m21kB1m2q4BB

→ · · ·
→ B1m21kBq61

m2BB

→ B1m21kq6B1m2BB

→ · · ·
→ q8B1m21kB1m2BB

→ Bq11
m21kB1m2BB = αs,

4



*� αs � α1 �	���������������	
��

αs → · · ·
→ Bm2q111kB1Bm2B

→ · · ·
→ Bm2+11kq2B1Bm2B

→ · · ·
→ Bm2+11kBq41B

m2B

→ Bm2+11kBq4BB
m2B

→ Bm2+11kq5BBB
m2B = ResZB

(α1).

��

B(m1, m2) = m1−̇m2 = m1 −m2 = 〈ResZB
(α1)〉 = ψ

(2)
ZB

(m1, m2).

(2) 
 m1, m2 ∈ N,m1 < m2, k
′ = m2 −m1��	!� α1 = q1m1, m2 ����

ZB ����	���

α1 = q111m1B1k′
1m1+1

→ · · ·
→ Bq11

m1B1k′
1m1BB

→ · · ·
→ Bm1q11B1k′

1Bm1B

→ Bm1q1BB1k′
1Bm1+1

→ Bm1Bq2B1k′
1Bm1+1

→ Bm1BBq31
k′

1Bm1+1

→ · · ·
→ Bm1BB1k′

q41B
m1+1

→ Bm1BB1k′
q4BB

m1+1

→ · · ·
→ Bm1Bq6B1k′

BBm1+1

→ Bm1q7BB1k′
BBm1+1

→ Bm1Bq9B1k′
BBm1+1

→ Bm1BBq101
k′
BBm1+1

→ Bm1BBq9B1k′−1BBm1+1

→ Bm1BBBq101
k′−1BBm1+1

→ · · ·
→ Bm1+k′+2q10BB

m1+1 = ResZB
(α1).

��

B(m1, m2) = m1−̇m2 = 0 = 〈ResZB
(α1)〉 = ψ

(2)
ZB

(m1, m2).

5



� (1)(2) ������
������� x, y ∈ N ��

B(x, y) = x−̇y = ψ
(2)
ZB

(x, y),

���� B(x, y) = x−̇y ��
���
�� 1.4 �� I(x) = x ��
�������

ZI = {q11Bq1}.
	!� α1 = q1n, n ∈ N ���� ZI ����	���

α1 = q1n = q111n → q1B1n.

��

I(n) = n = 〈q1B1n〉 = 〈ResZI
(α1)〉 = ψZI

(n),

���� I(x) = x ��
���

�� 1.5 �� Un
i (x1, · · · , xn) = xi, 1 ≤ i ≤ n ��
������� ZU ��

	 �������

qj1Bq2n+j ,

qjBRqj+1,

q2n+jBRqj ,

qi1Bqi,

qiBRq2n+i,

q2n+i1Rq2n+i,

q2n+iBRqi+1.

��� j ��#���� 1� n(����� j �= i	��� m1, · · · , mn ∈ N�
	!�

α1 = q1m1, · · · , mn

� ZU ����	���

α1 → · · ·
→ Bm1+1Bq21

m2+1B · · ·B1mi+1B · · ·B1mn+1

→ · · ·
→ Bm1+1BBm2+1B · · ·Bqi1mi+1B · · ·B1mn+1

→ Bm1+1BBm2+1B · · ·BqiB1miB · · ·B1mn+1

→ Bm1+1BBm2+1B · · ·BBq2n+i1
miB · · ·B1mn+1

→ · · ·
→ Bm1+1BBm2+1B · · ·B1miBqi+1 · · ·B1mn+1

→ · · ·
→ Bs1miBtqn1mn+1 (s, t&	����)

→ · · ·
→ Bs1miBtBmn+1Bqn+1B = ResZU

(α1)

6



��

Un
i (m1, · · · , mn) = mi = 〈ResZ(α1)〉 = ψ

(n)
Z (m1, · · · , mn).

���� Un
i (x1, · · · , xn) = xi ��
���

�� 1.6 �� D′(x, y) = (x + 1)(y + 1) ��
������� ZD′ ��	 

�������

q11Bq1, q1BRq2,

q21εq3, q3εRq3,

q31Rq3, q3BRq4,

q41Rq3, q4BLq5,

q51Lq6, q5BLq6,

q61ηq6, q6ηRq7,

q6BBq10, q71Rq7,

q7BRq8, q81Rq8,

q8B1q9, q91Lq9,

q9BLq9, q9η1q5,

q101Lq10, q10BLq10,

q10εBq1.

��� ε, η &	���� 1, B ���!� S-���	��� m1, m2 ∈ N�	
!�

α1 = q1m1, m2 = q11
m1+1B1m2+1

7



���� ZD′ ����	���

α1 → q1B1m1B1m2+1

→ Bq21
m1B1m2+1

→ Bq3ε1
m1−1B1m2+1

→ · · ·
→ Bε1m1−1q3B1m2+1

→ Bε1m1−1Bq41
m2+1

→ · · ·
→ Bε1m1−1B1m2+1q3B

→ Bε1m1−1B1m2+1Bq4B

→ Bε1m1−1B1m2+1q5BB

→ · · ·
→ Bε1m1−1B1m2q61BB

→ Bε1m1−1B1m2q6ηBB

→ Bε1m1−1B1m2ηq7BB

→ Bε1m1−1B1m2ηBq8B

→ Bε1m1−1B1m2ηBq91

→ Bε1m1−1B1m2ηq9B1

→ Bε1m1−1B1m2q9ηB1

→ Bε1m1−1B1m2q51B1

→ Bε1m1−1B1m2−1q611B1

→ Bε1m1−1B1m2−1q6η1B1

→ · · ·
→ Bε1m1−1B1m2−1η1B1q8B

→ Bε1m1−1B1m2−1η1B1q91

→ · · ·
→ Bε1m1−1Bη1m2B1m2q91

→ · · ·
→ Bε1m1−1Bq9η1

m2B1m2+1

→ Bε1m1−1Bq51
m2+1B1m2+1

→ Bε1m1−1q6B1m2+1B1m2+1

→ Bε1m1−1q10B1m2+1B1m2+1

→ · · ·
→ Bq10ε1

m1−1B1m2+1B1m2+1

→ Bq1B1m1−1B1m2+1B1m2+1

→ BBq21
m1−1B1m2+1B1m2+1 = αk,

������������ 1m1 +��� 1������� 1m2+1�����

8



��������	
��

αk → · · ·
→ Bm1q10εB1m2+1B1m2+1B · · ·B1m2+1

(��m1 + 1��B1m2+1)

→ · · ·
→ Bm1+1q2B1m2+1B1m2+1B · · ·B1m2+1 = ResZD′ (α1).

��

D′(m1, m2) = (m1 + 1)(m2 + 1) = 〈ResZD′(α1)〉 = ψ
(2)
ZD′ (m1, m2),

���� D′(x, y) = (x+ 1)(y + 1) ��
���

�� 1.7 �� C(x) = 1 ��
�������

ZC = {q11Bq1, q1BBq2, q2BRq3, q31Bq2, q3B1q2}.
	!� α1 = q1m,m ∈ N ���� ZC ����	���

α1 → q1B1m

→ q2B1m

→ Bq31
m

→ Bq2B1m−1

→ · · · · · ·
→ Bmq2B

→ Bm+1q3B

→ Bm+1q21 = ResZC
(α1),

��

C(m) = 1 = 〈Bm+1q21〉 = 〈ResZC
(α1)〉 = ψZC

(m).

���� C(x) = 1 ��
���

1.3 ����

�� 1.6 � Z ��������� Z(n) &	� qn+i  & Z ��� qi ���
�	���
�� θ(Z) &	 Z �� q-�������	 i�

��� 1.3 ���
��� 〈M〉 &	 1 �	!� M ����������
�� B �������!�	!������� B-����� B �	�
�����	�����

� 1 ������������ �	!��
����� B-�������	
�	!� BBS3BS2q3B1S3BBBB ���
S3BS2q3B1S3�

9



�� 1.7 � Z �������
 Z �#�� qθ(Z) ��� �����

ResZ(q1m1, · · · , mn), m1, · · · , mn ∈ N �������� r1, . . . , rs ∈ N ��

ResZ(q1m1, · · · , mn) = qθ(Z)r1, · · · , rs,

( 	!���� B-������ ) ���� Z ��� n-,�������
��� Z � n-,���

�� 1.1 � Z ����������,�� n����� n-,���� Z ′�
��� ResZ(q1m1, · · · , mn) �����

ResZ′(q1m1, · · · , mn) = qθ(Z′)ψ
(n)
Z (m1, · · · , mn).

��
�� λ, σ &	������� 1, B���	� Z � S-�������
Z1 ���	 �������

q11Lq1, q1Bλq1,

q1λRq2, q21Rq2,

q2BRq3, q31Rq2,

q3BLq4, q4Bσq4,

q4σLq5, q51Lq5,

q5BLq5, q5λRq6.

	!� α1 = q1m1, · · · , mn � Z1 ����	���

α1 → · · ·
→ λq2m1B · · ·Bmn

→ · · ·
→ λm1Bm2 · · ·Bmnq2B

→ · · ·
→ λB · · ·Bmnq4σB

→ · · ·
→ λq5m1B · · ·BmnσB

→ · · ·
→ λq6(m1, · · · , mn)σB

= αr = ResZ1(α1).

���� Z2 �� Z(5) �	� �������

qiλBqK+i,

qK+iBLq2K+i,

q2K+iBλq2K+i,

q2K+iλRqi,
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qiσBq3K+i,

q3K+iBRq4K+i,

q4K+iBσq4K+i,

q4K+iσLqi.

��� qi � Z(5) ��#�� q-���� K = θ(Z(5))	��� S-�� P0, Q0�
	!� qiλP0, Q0qjσ � Z2 ����	���

qiλP0 → qK+iBP0

→ q2K+iBBP0

→ q2K+iλBP0

→ λqiBP0,

Q0qjσ → Q0q3K+jB

→ Q0Bq4K+jB

→ Q0Bq4K+jσ

→ Q0qjBσ.

��� ResZ(α1)�����	!� αr = λq6m1, · · · , mnσB � Z2 ������

αr = λq6(m1, · · · , mn)σB → λασB = ResZ2(αr).

��	!�

α = ResZ(5)(q6m1, · · · , mn).

� L = 5K + 1����� Z3 ��	 �������

qiSjSjqL,

�� qi � Z2 ��#�� q-���Si � Z2 ��#�� S-���� qiSj ��

� Z2 ���� ���������!��	!� λασB = λPqiQσB (P,Q
���� S-�� ) ���������

λPqiQσB → λPqLQσB = ResZ3(λασB).

���� Z4 ��	 ��������� S &	 Z ��#���� 1, B �
S-���

qL1LqL, qLBLqL,

qLSLqL, qLλRqL+1,

qL+1SBqL+1, qL+1BRqL+1,

qL+11BqL+2, qL+1σBqL+4,

qL+2BLqL+2, qL+21RqL+3,

qL+2λRqL+3, qL+3B1qL+3,

qL+31RqL+1, qL+4BLqL+4,

qL+41LqL+4, qL+4λ1qL+5.
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� Z4 ��������

λPqLQσB → · · ·
→ qLλPQσB

→ λqL+1PQσB

→ · · ·
→ λBsqL+11MσB

(M&	���S-��, s&	����)

→ λBsqL+2BMσB

→ · · ·
→ qL+2λB

s+1MσB

→ λqL+3B
s+1MσB

→ λqL+31B
sMσB

→ λ1qL+1B
sMσB

→ · · ·
→ λ1pBtqL+1σB

(p = 〈λPqiQσB〉, t&	����)

→ λ1pBtqL+4BB

→ · · ·
→ qL+4λ1p

(���B-����)

→ qL+51
p+1.

� Z ′ = Z1

⋃
Z2

⋃
Z3

⋃
Z4��

ResZ′(α1) = qL+51
p+1

= qL+51
〈ResZ(q1m1,··· ,mn)〉+1

= qθ(Z′)ψ
(n)
Z (m1, · · · , mn).

������ Z ′ �#�� θ(Z ′) = L+ 5 ��� ������ Z ′ � n-,�
�� �
�� 1.2 � Z ��� n-,�����


ResZ(q1m1, . . . , mn) = qθ(Z)r1, · · · , rs,

����,�� p����� (p+ n)-,���� Zp ��

ResZp(q1k1, · · · , kp, m1, · · · , mn) = qθ(Zp)k1, · · · , kp, r1, · · · , rs.


 ResZ(q1m1, · · · , mn) -����

ResZp(q1k1, · · · , kp, m1, · · · , mn)

�-���

12



��
�� δ, ε &	������� 1, B���	� Z � S-�������
U1 ���	 �������

q11δq1, q1δRq2,

qi1εqi, qiεRqi,

qiBRqi+1, qp+11εqp+1,

qp+1εRqp+1, qp+1Bεqp+2,

qp+2εRqp+3,

�� 2 ≤ i ≤ n�	!� α1 = q1k1, · · · , kp, m1, · · · , mn ���� U1 ����	

���

α1 → q1δ1
k1B1k2+1B · · ·B1kp+1Bm1, · · · , mn

→ δq21
k1B1k2+1B · · ·B1kp+1Bm1, · · · , mn

→ · · ·
→ δεk1Bεk2+1 · · ·Bεkp+1qp+1Bm1, · · · , mn

→ δεk1Bεk2+1 · · ·Bεkp+1qp+2εm1, · · · , mn

→ δεk1Bεk2+1 · · ·Bεkp+1εqp+3m1, · · · , mn

= αr = ResU1(α1).

� N = θ(Z(p+2))����� U2 �� Z(p+2) ��	 �������

qiε1qN+i, qN+i1LqN+i,

qN+iεLqN+i, qN+iBLqN+i,

qN+iδBq2N+i, q2N+iBLq3N+i,

q3N+iBδq3N+i, q3N+iδRq4N+i,

q4N+iεRq5N+i, q4N+iBRq5N+i,

q5N+iεLq6N+i, q5N+iBLq7N+i,

q5N+i1Bqi, q6N+iεεq8N+i,

q6N+iBεq8N+i, q7N+iεBq8N+i,

q7N+iBBq8N+i, q8N+iεRq4N+i,

q8N+iBRq4N+i.

�� qi � Z(p+2) ��#�� q-���� P ��� S-������� U2 ��
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�	���

δεk1Bεk2+1B · · ·Bεkp+1qiεP

→ δεk1Bεk2+1B · · ·Bεkp+1qN+i1P

→ · · ·
→ qN+iδε

k1Bεk2+1B · · ·Bεkp+11P

→ q2N+iBε
k1Bεk2+1B · · ·Bεkp+11P

→ q3N+iBBε
k1Bεk2+1B · · ·Bεkp+11P

→ q3N+iδBε
k1Bεk2+1B · · ·Bεkp+11P

→ δq4N+iBε
k1Bεk2+1B · · ·Bεkp+11P

→ δBq5N+iε
k1Bεk2+1B · · ·Bεkp+11P

→ · · ·
→ δεk1Bεk2+1B · · ·Bεkp+1εq5N+i1P

→ δεk1Bεk2+1B · · ·Bεkp+1εqiBP

� U3 = U1

⋃
U2�
 ResZ(q1m1, · · · , mn)�����	!� α1 � U3 ����

	���

α1 → · · ·
→ δεk1B · · ·Bεkp+1εqp+3m1, · · · , mn = αr

→ · · ·
→ δεk1B · · ·Bεkp+1εqNr1, · · · , rs.

� L = θ(U3)����� Zp �� U3 �	� �������

qN1LqN ,

qNεBqL+1,

qL+1BLqL+1,

qL+1ε1qL+1,

qL+11LqL+1,

qL+1δ1qL+2.

������	���

α1 → · · ·
→ δεk1B · · ·Bεkp+1εqNr1, · · · , rs = ResU3(α1)

→ δεk1B · · ·Bεkp+1qNεr1, · · · , rs

→ δεk1B · · ·Bεkp+1qL+1Br1, · · · , rs

→ · · ·
→ qL+21

k1+1B · · ·B1kp+1Br1, · · · , rs

= qθ(Zp)k1, · · · , kp, r1, · · · , rs,
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��

ResZp(q1k1, · · · , kp, m1, · · · , mn) = qθ(Zp)k1, · · · , kp, r1, · · · , rs.


 Resz(q1m1, · · · , mn) -���� ResU3(α1) -���ResZp(α1) �-��� �

�� 1.3 � n, p ∈ N, n > 0, p ≥ 0����� (p + n)-,���� Cp����
�� k1, · · · , kp, m1, · · · , mn ∈ N,

ResCp(q1k1, · · · , kp, m1, · · · , mn) = qp+16m1, · · · , mn, k1, · · · , kp, m1, · · · , mn.

��
����� Cp ���	 �������

q11Lq1, q1BLq2,

q2Bλq2, q2λRq3,

qi1Rqi, qiBRqi+1,

qp+31Rqp+3, qp+3Bσqp+3,

qp+3σRqp+4, qp+41Rqp+4,

qp+4BRqp+5, qp+51Rqp+4,

qp+5BLqp+6, qp+61Lqp+7,

qp+6BLqp+7, qp+71ωqp+7,

qp+7ωLqp+8, qp+7Bβqp+7,

qp+7βLqp+11, qp+7σBqp+15,

qp+81Lqp+8, qp+8BLqp+8,

qp+8σLqp+8, qp+8λωqp+10,

qp+8ω1qp+9, qp+8βBqp+9,

qp+91Lqp+10, qp+9BLqp+10,

qp+10Bωqp+10, qp+10ωRqp+14,

qp+111Lqp+11, qp+11BLqp+11,

qp+11σLqp+11, qp+11ω1qp+12,

qp+11βBqp+12, qp+121Lqp+13,

qp+12BLqp+13, qp+13Bβqp+13,

qp+13βRqp+14, qp+141Rqp+14,

qp+14BRqp+14, qp+14σRqp+14,

qp+14ω1qp+6, qp+14βBqp+6,

qp+151Lqp+15, qp+15BLqp+15,

qp+15ω1qp+16,

�� 3 ≤ i ≤ p− 2�
 p = 0�	!� α1 = q1m1, · · · , mn ���� C0 ���
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�	���

α1 → · · ·
→ q2λBm1, · · · , mn

→ λq3Bm1, · · · , mn

→ λq3σm1, · · · , mn

→ · · ·
→ λσm1, · · · , mn−1B1mnq71

→ · · ·
→ q8λσm1, · · · , mn−1B1mnω

→ q10ωσm1, · · · , mn−1B1mnω

→ · · ·
→ ωσm1, · · · , mn−1B1mnq14ω

→ · · ·
→ q11ω1mnσm1, · · · , mn−1β1mn+1

→ q121
mn+1σm1, · · · , mn−1β1mn+1

→ · · ·
→ q13B1mn+1σm1, · · · , mn−1B1mn+1

→ · · ·
→ ω1m1Bm2, · · · , mnq7σm1, · · · , mn

→ q15ω1m1Bm2, · · · , mnBm1, · · · , mn

→ q16m1, · · · , mn, m1, · · · , mn.

��

ResC0(α1) = q16m1, · · · , mn, m1, · · · , mn.


 p > 0��	!� α1 = q1k1, · · · , kp, m1, · · · , mn ���� Cp ����	�

��

q1k1, · · · , kp, m1, · · · , mn → · · ·
→ q2λBk1, · · · , kp, m1, · · · , mn

→ · · ·
→ λBk1, · · · , kpqp+3σm1, · · · , mn

→ · · · (����$p = 0���)

→ q16m1, · · · , mn, k1, · · · , kp, m1, · · · , mn.

��

ResCp(q1k1, · · · , kp, m1, · · · , mn) = q16m1, · · · , mn, k1, · · · , kp, m1, · · · , mn.

�
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�� 1.4 � n, p ∈ N, n > 0, p > 0����� (p + n)-,���� Rp����
�� k1, · · · , kp, m1, · · · , m2 ∈ N

ResRp(q1k1, · · · , kp, m1, · · · , mn) = qp+16m1, · · · , mn, k1, · · · , kp.

��
�� Rp ����� Cp � ���

qp+14ω1qp+6

�

qp+14ωBqp+6

 &�	��	���� Rp ���� Cp �$�� Cp �����%� ω  
& S-�� m1, · · · , mn �1���(�&� ω ��� 1
� Rp �������

ω � B � &���������������� �

�� 1.5 ��� n-,���� Z�


ResZ(q1m1, · · · , mn) = qθ(Z)r1, · · · , rs,

����� n-,���� Z ′���

ResZ′(q1m1, · · · , mn) = qθ(Z′)r1, · · · , rs, m1, · · · , mn.


 ResZ(q1m1, · · · , mn) -���� ResZ′(q1m1, · · · , mn) �-���

��
��.� 1.2 ������� 2n-,���� U���

ResU(q1m1, · · · , mn, m1, · · · , mn) = qθ(U)m1, · · · , mn, r1, · · · , rs.

����

Z ′ = C0

⋃
U (15)

⋃
R(14+θ(U))

n .

	!� α1 = q1m1, · · · , mn ���� C0 ����	���

q1m1, · · · , mn → · · ·
→ q16m1, · · · , mn, m1, · · · , mn = α2.


 ResZ(α1) ����� α2 � U (15) ������

α2 → · · · → qθ(U (15))m1, · · · , mn, r1, · · · , rs = α3.

� α3 � R
(14+θ(U))
n ������

α3 → · · · → qθ(Z′)r1, · · · , rs, m1, · · · , mn.

��

ResZ′(q1m1, · · · , mn) = qθ(Z′)r1, · · · , rs, m1, · · · , mn.


 ResZ(α1) -���� ResU (15)(α2) -���ResZ′(α1) �-��� �

17



�� 1.6 � Z1, · · · , Zp � p ����� n ���,������� n-,��
�� Z ′���

ResZ′(q1m1, · · · , mn) = qθ(Z′)ψ
(n)
Z1

(m1, · · · , mn), · · · , ψ(n)
Zp

(m1, · · · , mn).

��
����
��� p = 1 ��������.� 1.1 
���	��
p = k ��������
 p = k + 1 �����
 Z1, · · · , Zk+1 � k + 1 ��
����

ri = ψ
(n)
Zi

(m1, · · · , mn), 1 ≤ i ≤ k + 1

���������� n-,���� Y1 ��

ResY1(q1m1, · · · , mn) = qθ(Y1)r1, · · · , rk.

�.� 1.5 ���������� Y2���

ResY2(q1m1, · · · , mn) = qθ(Y2)r1, · · · , rk, m1, · · · , mn.

&�.� 1.1 ������� n-,���� Y3 ��

ResY3(q1m1, · · · , mn) = qθ(Y3)rk+1.

���.� 1.2 ������� k + n-,���� Y4 ��

ResY4(q1r1, · · · , rk, m1, · · · , mn) = qθ(Y4)r1, · · · , rk, rk+1.

� Z ′ = Y2

⋃
Y

(θ(Y2)−1)
4 �������	���

q1m1, · · · , mn → · · ·
→ qθ(Y2)r1, · · · , rk, m1, · · · , mn

→ · · ·
→ qθ(Z′)r1, · · · , rk, rk+1 = ResZ′(q1m1, · · · , mn).

�� p = k + 1 ����� �

1.4 ����������

�� 1.8 
�� h(x(n)), f(y(m)), g1(x
(n)), · · · , gm(x(n)) ���	
��

h(x(n)) = f(g1(x
(n)), · · · , gm(x(n))),

���� h(x(n)) ���� g1(x
(n)), · · · , gm(x(n)) ���� f(y(m)) �����

���� h ���� f, g1, · · · , gm ����������� h � x(n) ���
���� g1, · · · , gm � x(n) ������� f � (g1(x

(n)), · · · , gm(x(n))) ��
��

��� 1.8 ��������������������
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�� 1.1 
�� f(y(m)), g1(x
(n)), · · · , gm(x(n)) ��
�����������

h(x(n)) = f(g1(x
(n)), · · · , gm(x(n)))

���
���

��
����� g1(x
(n)), · · · , gm(x(n)) ��
����������

Z1, · · · , Zm

��

gi(x
(n)) = ψ

(n)
Zi

(x(n)), i = 1, · · · , m
�.� 1.6 ������� n-,���� Z���

ResZ(q1x(n)) = qθ(Z)ψ
(n)
Z1

(x(n)), · · · , ψ(n)
Zm

(x(n))

= qθ(Z)g1(x(n)), · · · , gm(x(n)).

���� f ��
������������ Zf���

ψ
(m)
Zf

(y(m)) = f(y(m)).

���� Z ′ = Z
⋃
Z

θ(Z)−1
f �����������

q1x(n) → · · ·
→ qθ(Z)g1(x(n)), · · · , gm(xn)

→ · · ·
→ α = Res

Z
θ(Z)−1
f

(qθg1(x(n)), · · · , gm(x(n))).

��

〈α〉 = f(g1(x
(n)), · · · , gm(x(n))).

��

ψ
(n)
Z′ (x(n)) = f(g1(x

(n)), · · · , gm(x(n))) = h(x(n)).

���� h ��
��� �

�� 1.8 �� D(x, y) = xy ��
���Æ���

S(U2
2 (x, y)) = y + 1

���� U2
2 (x, y) = y ���� S(x) = x+ 1 ������
�������

h(x, y) = B(D′(x, y), S(U2
2 (x, y)))

= B((x+ 1)(y + 1), y + 1)

= (x+ 1)(y + 1) − (y + 1)

= xy + x
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���� D′(x, y), S(U2
2 (x, y)) ���� B(x, y) ������
������

��

D(x, y) = xy

= (xy + x)−̇x
= B(h(x, y), U2

1 (x, y)).

���� h(x, y) = xy + x, U2
1 (x, y) = x ���� B(x, y) = x−̇y ������


����

�� 1.9 
�� f(y, x(n)) ��� x(n) ∈ Nn����� y ∈ N ��

f(y, x(n)) = 0

�� f ��� �����

�� 1.10 
�� f(y, x(n)) �����������

h(x(n)) = min
y

[f(y, x(n)) = 0]

��� f(y, x(n)) ����������� h �� f �����������
������� f(y, x(n)) ������ y�
�� f ����������
��� f �������

��� 1.10 �������������������

�� 1.9 
�� f(y, x) = y − 2x���� f ��������������
����

h(x) = min
y

[f(y, x)] = 2x.

�� 1.2 
 f(y, x(n)) ����
���������� f ������

h(x(n)) = min
y

[f(y, xn) = 0],

���
���

��
�����

U = {q11Lq1, q1BLq2, q2B1q3}.
	!� α1 = q1x(n) ���� U ���	���

α1 = q1x(n) → · · · → q30, x(n) = ResU(α1).

Æ��� f(y, x(n)) ����
������������� Zf ��

f(y, x(n)) = ψ
(n+1)
Zf

(y, x(n)),

�.� 1.1 ������� n+ 1-,���� Y0���

ResY0(q1y, x
(n)) = qθ(Y0)ψZf

(y, x(n)) = qθY0
f(y, x(n)).
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�.� 1.5 ������� n+ 1-,���� Y���

ResY (q1y, x(n)) = qθ(Y )f(y, x(n)), y, x(n).

� N = θ(Y (2))��

ResY (2)(q3y, x(n)) = qNf(y, x(n)), y, x(n).

����

M = {qN1BqN , qNBRqN+1, qN+111qN+2, qN+1BRqN+4}.

 f(y, x(n)) = k > 0����� M ���	���

qNf(y, x(n)), y, x(n) = qN11kBy, x(n)

→ · · ·
→ BqN+21

kBy, x(n).


 f(y, x(n)) = 0����� M ���	���

qNf(y, x(n)), y, x(n) = qN1By, x(n)

→ · · ·
→ BBqN+4y, x(n).

����

Q = {qN+21BqN+3, qN+2B1q3, qN+3BRqN+2}.
� Q ���	���

qN+21
kBy, x(n) → · · ·

→ Bk+1q3y + 1, x(n).

�	� 1.5 ����
��� Un+1
1 (y, x(n)) = y ������� ZU ��

Un+1
1 (y, x(n)) = y = ψ

(n+1)
ZU

(y, x(n)).

��.� 1.1 ������� n+ 1- ,���� Z1 ��

ResZ1(q1y, x
(n)) = qθ(Z1)y

= qθ(Z1)1
y+1.

����

E = Z1

⋃{qθ(Z1)1Bqθ(Z1)}.
� K = θ(E(N+3))����� E(N+3) ���	���

q(N+4)(y, x(n)) → · · · → qKB1y.

������

Z = U
⋃
Y (2)

⋃
M
⋃
Q
⋃
E(N+3).
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� f(i, x(n)) = ri 
 r0 �= 0, r1 �= 0, · · · , rk−1 �= 0, rk = 0����� Z ���	
���

q1x(n) → · · ·
→ q30, x(n) = ResU(q1x(n))

→ · · ·
→ qN (r0, 0, x(n)) = ResY (2)(q30, x(n))

→ · · ·
→ qN+2r0 − 1, 0, x(n) = ResM(qNr0, 0, x(n))

→ · · ·
→ q31, x(n) = ResQ(qN+2r0 − 1, 0, x(n))

→ · · ·
→ q3k, x(n)

→ · · ·
→ qNrk, k, x(n) = ResY (2)(q31, x(n))

= qN1Bk, x(n)

→ · · ·
→ qN+4k, x(n) = ResM(qNrk, k, x(n))

→ · · ·
→ qKB1k = ResE(N+3)(qN+4k, x(n)).

( ���	!������� B-������ ) ��

h(x(n)) = min
y

[f(y, x(n)) = 0] = k = 〈qKB1k〉 = 〈ResZ(q1x
(n))〉 = ψ

(n)
Z (x(n)),

���� h(x(n)) ��
��� �
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� 2 �

���� (Recursive Functions)

	�����������
����������	
�	�������
��	�����
��������
��������
������

����

2.1 ����

������
�����

B(x, y) = x−̇y =

{
x− y, x ≥ y
0, x < y

,

����� f(y, x(n)) ��������

h(x(n)) = min
y

[f(y, x(n)) = 0]

�
���� f(y, x(n)) �
�������������� x(n) ∈ Nn �+�
��� y ∈ N �� f(y, x(n)) = 0���� h(x(n)) �� f(y, x(n)) = 0 ����
�� y�������������
�	�����������
����

�� 2.1 
������	�������

(1) C(x) = 1,

(2) S(x) = x+ 1,

(3) Un
i (x1, · · · , xn) = xi, 1 ≤ i ≤ n,

(4) A(x, y) = x+ y,

(5) B(x, y) = x−̇y,
(6) D(x, y) = xy,

����������������������������
���

(recursive function)��������
���
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Æ�����

C(x) = 1,

S(x) = x+ 1,

Un
i (x1, · · · , xn) = xi, 1 ≤ i ≤ n,

A(x, y) = x+ y,

B(x, y) = x−̇y,
D(x, y) = xy,

������������������������������/���
����
���������
�	������	!��������
����

�� 2.1 ��� N(x) = 0 �
�����

N(x) = 0

= x−̇x
= U1

1 (x)−̇U1
1 (x)

= B(U1
1 (x), U1

1 (x)),

����� N(x) = 0 ���� U1
1 (x) ��� U1

1 (x) ���� B(x, y) ���
����
����

�� 2.2 ��

α(x) = 1−̇x =

{
0, x �= 0
1, x = 0

,

�
�����

α(x) = 1−̇x
= S(N(x))−̇U1

1 (x)

= B(S(N(x)), U1
1 (x)),

���� α(x) = 1−̇x ���� S(N(x)) ��� U1
1 (x) ���� B(x, y) ��

�����
����

�� 2.3 �� x2 �
�����

x2 = x · x
= U1

1 (x) · U1
1 (x)

= D(U1
1 (x), U1

1 (x)),

���� x2 ���� U1
1 (x) ��� U1

1 (x) ���� D(x, y) �������

����

24



�� 2.4 �� [
√
x ] ������

√
x �����	�
�����

[
√
x ] = min

y
[(y + 1)2−̇x �= 0]

= min
y

[S(U2
2 (x, y))2−̇U2

1 (x, y) �= 0]

= min
y

[α
(
S(U2

2 (x, y))2−̇U2
1 (x, y)

)
= 0],

���� [
√
x ] ���� α

(
S(U2

2 (x, y))2−̇U2
1 (x, y)

)
�����������

���
����

�� 2.5 �� |x− y| �
�����

|x− y| = (x−̇y) + (y−̇x) = A(x−̇y, y−̇x),
���

y−̇x = B(U2
2 (x, y), U2

1 (x, y)),

���� |x − y| ���� B(x, y) = x−̇y ��� y−̇x ���� A(x, y) ��
�����
����

�� 2.6 ��

[x/y] =

{
0, y = 0
����� x/y �����, y �= 0

�
�����

[x/y] = min
z

[y = 0
∨
y(z + 1) > x]

= min
z

[y = 0
∨
y(z + 1)−̇x �= 0]

= min
z

[y = 0
∨
α(y(z + 1)−̇x) = 0]

= min
z

[y · α(y(z + 1)−̇x) = 0].

���� [x/y] ���� y · α(y(z + 1)−̇x) �������������
�
���

�� 2.7 ��

R(x, y) =

{
x, y = 0

x�� y ���, y �= 0

�	!�

R(x, y) = x−̇y[x/y].
���� R(x, y) �
���

�� 2.1 
�����
���
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��
������	� 1.7, 1.2, 1.5, 1.1, 1.3, 1.8Æ��
�
�������
��

C(x) = 1,

(x) = x+ 1,

Un
i (x1, · · · , xn) = xi, 1 ≤ i ≤ n,

A(x, y) = x+ y,

B(x, y) = x−̇y,
D(x, y) = xy

���
���&������ 1.1, 1.2 ����������������
��������
��� �
�� 2.1 ��	���,�������	���	�
��
��

�� 2.2 ������� x, y, z���
��� J(x, y), K(z), L(z) ���

K(J(x, y)) = x,

L(J(x, y)) = y,

J(K(z), L(z)) = z.

��
�Æ���

J(x, y) = [1 + 2 + · · ·+ (x+ y)] + x

�� N2 ������� N ������

[1 + 2 + · · ·+ (x+ y)] + x =
1

2

(
(x+ y)2 + 3x+ y

)
����������

J(x, y) =
1

2

(
(x+ y)2 + 3x+ y

)
=

[
(x+ y)2 + 3U2

1 (x, y) + U2
2 (x, y)

S(S(N(U2
1 (x, y))))

]
.

���

Q1(z) =

[
1

2
([
√

8z + 1] + 1)

]
−̇1

= [([
√

8z + 1] + 1)/S(S(N(z)))]−̇1,

Q2(z) = 2z−̇(Q1(z))
2,

K(z) =

[
1

2
(Q2(z)−̇Q1(z))

]
,

L(z) = Q1(z)−̇K(z).

���"���	!������ J(x, y), K(z), L(z) ��
����
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������ x, y��
z = J(x, y),

�����

2z = (x+ y)2 + 3x+ y,

8z + 1 = (2x+ 2y + 1)2 + 8x,

(2x+ 2y + 1)2 ≤ 8z + 1 < (2x+ 2y + 3)2,

2x+ 2y + 1 ≤
[√

8z + 1
]
< 2x+ 2y + 3,[

1

2

(
[
√

8z + 1] + 1
)]

= x+ y + 1,

��

Q1(z) =

[
1

2

(
[
√

8z + 1] + 1
)]

−̇1

= (x+ y + 1)−̇1 = x+ y.

Q2(z) = 2z−̇(Q1(z))
2

= ((x+ y)2 + 3x+ y)−̇(x+ y)2 = 3x+ y.

��

K(J(x, y)) = K(z)

=

[
1

2
(Q2(z)−̇Q1(z))

]

=

[
1

2

(
(3x+ y)−̇(x+ y)

)]
= x.

L(J(x, y)) = L(z)

= Q1(z)−̇K(z)

= (x+ y)−̇x
= y.

'(������� z������������ x, y��� z = J(x, y)�
���������� r���

0 + 1 + 2 + · · ·+ r ≤ z < 0 + 1 + 2 + · · ·+ (r + 1).

�

x = z − (0 + 1 + 2 + · · · + r) ≤ r,

y = r − x,

�����

z = (1 + 2 + · · · + (x+ y)) + x

=
1

2

(
(x+ y)2 + 3x+ y

)
= J(x, y).
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Æ�

K(z) = x,

L(z) = y.

��

J(K(z), L(z)) = J(x, y) = z.

�

�� 2.3 � a0, a1, a2, · · · , an � n+ 1 ������������� u, v ��

R(u, 1 + v(i+ 1)) = ai.

��

R(x, y) =

{
x, y = 0,

x��y���, y �= 0

= x−̇y[x/y].
��
��

A = max{a0, a1, · · · , an},
v = 2A · n!,

mi = 1 + v(i+ 1).

��%�
�
(mi, mj) = 1, 0 ≤ i �= j ≤ n.

�� v �� n! ����� (mi, n!) = 1�


d | mi, d | mj , 0 ≤ i �= j ≤ n.

�

d | (i+ 1)mj − (j + 1)mi = i− j,

�� d �
� 1��� (mi, mj) = 1,�
��������������������� u ��

u ≡ ai (mod mi), i = 0, 1, 2, · · · , n.
��

ai < mi,

��

R(u, 1 + v(i+ 1)) = R(u,mi) = R(ai, mi) = ai.

�
�� 2.4 � a0, a1, · · · , an � n + 1 ��������
��� T (i, w) =
Ti(w), 0 ≤ i ≤ n ����� w0 ��

T (i, w0) = Ti(w0) = ai, i = 0, 1, 2, · · · , n.
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��
����

Ti(w) = R (K(w), 1 + L(w)(i+ 1)) , 0 ≤ i ≤ n.

�	!������ Ti(w) �
�����������
������ u, v
��

R(u, 1 + v(i+ 1)) = ai, i = 0, 1, 2, · · · , n.
 w0 = J(u, v)��

Ti(w0) = R (K(w0), 1 + L(w0)(i+ 1))

= R (K(J(u, v)), 1 + L(J(u, v)(i+ 1)))

= R(u, 1 + v(i+ 1))

= ai, i = 0, 1, 2, · · · , n.
�

2.2 ������

���������������������������
��—��

����

�� 2.2 
�� f(x(n)), g(x(n+2)) ��������� h(x(n+1)) ���

h(0, x(n)) = f(x(n)),

h(y + 1, x(n)) = g(y, h(y, x(n)), x(n)),

���� h ���� f, g ���
�������

�� 2.5 
�� f(x(n)), g(x(n+2)) �
������� f, g ���
����
����� h(x(n+1)) ��
���

��
���� 2.4 ����� y, x(n)�� y + 1 �����

h(0, x(n)), h(1, x(n)), · · · , h(y, x(n)),

��
��� Ti(w)(i = 0, 1, 2, · · · , y) ����� w′���

Ti(w
′) = h(i, x(n)),

� w0 ������ w′ ��������

h(y, x(n)) = Ty(w0)

= Ty

(
min

w

[
(T0(w) = f(x(n)))

∧ y−1∧
z=0

(Tz+1(w) = g(z, Tz(w), x(n)))

])
.

���
������ y − 1 �������������
�������
�� y������	!����

h(y, x(n)) = Ty

(
min

w

[
(T0(w) = f(x(n)))

∧
{y = min

z
[(Tz+1(w) �= g(z, Tz(w), x(n)))

∨
(z = y)]}

])
.
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���

H(y, w, x(n)) = min
z

[Tz+1(w) �= g(z, Tz(w), x(n))
∨

(z = y)]

= min
z

[|z − y| · α(|Tz+1(w) − g(z, Tz(w), x(n))|) = 0].

�	!������ H(y, w, x(n)) ���
�������� h(y, x(n)) �	
!�&"��

h(y, x(n)) = Ty

(
min

w

[
T0(w) = f(x(n)))

∧
(y = H(y, w, x(n)))

])
= Ty

(
min

w

[|T0(w) − f(x(n)| + |y −H(y, w, x(n))| = 0
])
.

����
�	!�����	��� h(y, x(n)) �
��� �

�� 2.3 
������	�������

(1) C(x) = 1,

(2) S(x) = x+ 1,

(3) N(x) = 0,

(4) Un
i (x1, . . . , xn) = xi, 1 ≤ i ≤ n,

�����������
��������������� ��
���

(primitive recursive function)����������
���

�� 2.6 ��
����
���

��
���� 2.1 ���� C(x) = 1, S(x) = x+ 1, Un
i (x1, · · · , xn) = xi ��


���&�	� 2.1 ���� N(x) = 0 ��
�������
����
������
����
��������������
�������
����
��� �
�	�"���	!�����������
���

�� 2.8 �� A(x, y) = x+ y ���
�����

A(0, y) = y = U1
1 (y)

A(x+ 1, y) = x+ 1 + y

= (x+ y) + 1

= A(x, y) + 1

= S(U3
2 (x,A(x, y), y)).

���� A(x, y) = x+ y ���� U1
1 (x) = x ��� S(U3

2 (x, y, z)) = y + 1 �
��
�����������
����
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�� 2.9 �� D(x, y) = xy ���
���Æ��� A(x, y) = x + y ���

�������

g(u, v, w) = A(U3
2 (u, v, w), U3

3 (u, v, w)) = v + w.

����
������

D(0, y) = 0 = N(y)

D(x+ 1, y) = xy + y

= D(x, y) + y

= g(x,D(x, y), y).

���� D(x, y) ���� N(y) = 0 ��� g(u, v, w) = v + w ���
��
���������
����

�� 2.10 ��

B(x, y) = x−̇y =

{
x− y, x ≥ y
0, x < y

���
�������

P ′(x, y) =

{
0, x = 0
x−̇1, x > 0

�	!��

P ′(0, y) = 0 = N(y),

P ′(x+ 1, y) = x = U3
1 (x, P ′(x, y), y).

���� P ′(x, y) ���
�����(���

P (x) = P ′(x, x) =

{
0, x = 0
x−̇1, x > 0

.

����
������ B′(y, x) = B(x, y) = x−̇y��	!��
B′(0, x) = B(x, 0) = x−̇0 = x = U1

1 (x),

B′(y + 1, x) = B(x, y + 1) = x−̇(y + 1)

= P (x−̇y) = P (U3
2 (y, B(x, y), x)).

���� B(x, y) ���� U1
1 (x) = x ��� P (U3

2 (x, y, z)) ���
����
�������
����

�� 2.11 ���� f(x, y) = yx ���
���Æ��� D(x, y) = xy ��
���
��������

g(u, v, w) = D(U3
2 (u, v, w), U3

3 (u, v, w)) = v · w
����
������ yx �	!��

f(0, y) = y0 = 1 = S(N(y))

f(x+ 1, y) = yx+1 = yx · y = g(x, f(x, y), y),

���� yx ���� S(N(y)) = 1 ��� g(u, v, w) = v · w ���
���
��������
����

31



�� 2.12 ���� x! ���
���Æ���

g(u, v, w) = D(S(U3
1 (u, v, w)), U3

2 (u, v, w)) = D(S(u), v) = (u+ 1)v

���
������ f(x, y) = x! �	!�

f(0, y) = 0! = 1 = S(N(y)).

f(x+ 1, y) = (x+ 1)! = (x+ 1) · x! = g(x, f(x, y), y).

���� x! ���� S(N(y)) = 1 ��� g(u, v, w) = (u+ 1)v ���
��
���������
����

���� A(x, y) = x + y, B(x, y) = x−̇y,D(x, y) = xy �
�������

����
��"
	�

�� 2.7 �����
��������
�����	�������

(1) C(x) = 1

(2) S(x) = x+ 1

(3) N(x) = 0

(4) Un
i (x1, . . . , xn) = xi, 1 ≤ i ≤ n

�������������
�������������

��
��	� 2.8, 2.10, 2.9 ���� A(x, y), B(x, y), D(x, y) ����
�
����
�������$����
��'(��� N(x) = 0 �
��
��	� 2.1	����� 2.5 ����
����
������
���
�$�
��������
��� �
�������	����
��
���������
������

����������
������������������	���	
��	���
���

�� 2.8 
�� f(y, x(n)) ����	
������

h1(z, x
(n)) =

z∑
y=0

f(y, x(n))

�

h2(z, x
(n)) =

z∏
y=0

f(y, x(n))

�����	
���

��
����� f(y, x(n)) ����	
�������

f(0, x(n))
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�����	
������

g1(z, k, x
(n)) = k + f(z + 1, x(n))

= A
(
Un+2

2 (z, k, x(n)), f(S(Un+2
1 (z, k, x(n))), x(n))

)
,

g2(z, k, x
(n)) = k · f(z + 1, x(n))

= D
(
Un+2

2 (z, k, x(n)), f(S(Un+2
1 (z, k, x(n))), x(n))

)
.

�	!������ g1, g2 ����	
��������

h1(z, x
(n)), h2(z, x

(n))

���	���
����

h1(0, x
(n)) = f(0, x(n)),

h1(z + 1, x(n)) = h1(z, x
(n)) + f(z + 1, x(n))

= g1(z, h1(z, x
(n)), x(n)),

h2(0, x
(n)) = f(0, x(n)),

h2(z + 1, x(n)) = h2(z, x
(n)) · f(z + 1, x(n))

= g2(z, h2(z, x
(n)), x(n)).

���� h1, h2 ����	
��� �

2.3 ��������

�� 2.4 � S � Nn ���)���
����

CS(x(n)) =

{
1, x(n) �∈ S,
0, x(n) ∈ S,

������	
�������� S ������	
���

� R � Nn �)����� R &	 R � N (n) ����

�� 2.9 
 R, S � Nn �)��������	
������

R,R
⋃
S,R

⋂
S

�����	
���

��
�����
�� R, S ����� CR, CS ����	
������
� R,R

⋃
S,R

⋂
S �����

CR = 1−̇CR,

CR
⋃

S = CR · CS,

CR
⋂

S = (CR + CS)−̇(CR · CS),

�����	
������� R,R
⋃
S,R

⋂
S ����	
��� �
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� P (x1, · · · , xn) &	������ x1, · · · , xn �	��������

CP (x1, · · · , xn) ��
	�

CP (x1, . . . , xn) =

{
0, 
�� x(n) ��	� P (x1, · · · , xn)
1, �0

,


���� CP (x1, · · · , xn) ����	
�����	� P (x1, · · · , xn) ��
��	
���
� P (x1, · · · , xn), Q(x1, · · · , xn) ��� x(n) �	���

∼ P (x1, · · · , xn)

&	 P �	�	�


P (x1, . . . , xn)
∨
Q(x1, . . . , xn)

&	�� P � Q �	�


P (x1, . . . , xn)
∧
Q(x1, . . . , xn)

&	!��� P � Q �	��

�� 2.10 
	� P (x1, . . . , xn), Q(x1, . . . , xn) ����	
����

∼ P (x1, . . . , xn),

P (x1, . . . , xn)
∨
Q(x1, . . . , xn),

P (x1, . . . , xn)
∧
Q(x1, . . . , xn)

�����	
���

��
���
��� 2.9 �$������� �
�� 2.10 �����!���	� P (x1, · · · , xn), Q(x1, · · · , xm)���


��� 2.9 �$�

�� 2.11 �	� P (y, x(n)) ����	
����	�

z∨
y=0

P (y, x(n)),
z∧

y=0

P (y, x(n))

�����	
���

��
�	�
∨z

y=0 P (y, x(n)) �����

z∏
y=0

Cp(y, x
(n))

����	
�����	�
∨z

y=0 P (y, x(n)) ����	
���Æ�	�

∼ P ����	
�����

z∧
y=0

P (y, x(n)) ↔∼
[

z∨
y=0

∼ P (y, x(n))

]

��	�
∧z

y=0 P (y, x(n)) ����	
��� �
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�� 2.5 � P (y, x(n)) ���	��������� z, x(n) ���
	�

Mz
y=0P (y, x(n)) =

{
miny[0 ≤ y ≤ z

∧
P (y, x(n))], 
 y ��,

0, 
 y ���.
,

�� 2.12 �	� P (y, x(n)) ����	
������

Mz
y=0P (y, x(n))

�����	
���

��
����

ρ(t, x(n)) =

t∏
y=0

CP (y, x(n)),

��� ρ(t, x(n)) �	�
∨t

y=0 P (y, x(n)) ������

��� x(n) ���
���� t0(0 ≤ t0 ≤ z) ��	� P (t0, x
(n)) ���

�����

ρ(y, x(n)) = 0, ∀y ≥ t0,

ρ(y, x(n)) = 1, ∀y < t0,

�����

z∑
t=0

ρ(t, x(n)) =

t0−1∑
t=0

ρ(t, x(n)) +
z∑

t=t0

ρ(t, x(n))

=

t0−1∑
t=0

1 +

z∑
t=t0

0

= t0

= Mz
y=0P (y, x(n))

�

α(ρ(z, x(n))) = 1.


��� t(0 ≤ t ≤ z) �	� P (t, x(n)) ����

ρ(z, x(n)) = 1,

α(ρ(z, x(n))) = 0 = Mz
y=0P (y, x(n)).

������������� Mz
y=0P (y, x(n)) 	!
	�

Mz
y=0P (y, x(n)) = α(

z∏
y=0

CP (y, x(n))) ·
z∑

t=0

t∏
y=0

CP (y, x(n)).

���� Mz
y=0P (y, x(n)) ����	
��� �

	��	���������	
���
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�� 2.13 	�
P (x, y) ↔ x = y

�����

α(α(|x− y|))
����	
�����	�� x = y �����	
���

�� 2.14 	�
P (x, y) ↔ y|x

�	!�

y|x↔
x∨

z=0

(x = yz).

��	�� x = yz �����	
�������� α(α(|x− yz|))	���
	�� y|x �����	
���
�� 2.15 	�

P (x, y) ↔ x < y

�����

α(y−̇x)
����	
�����	�� x < y �����	
���

�� 2.16 	�
P (x, y) ↔ x �= y

�����

α(|x− y|)
����	
�����	�� x �= y �����	
���

�� 2.17 	�
Prime(x) ↔ x�����

�	!�

Prime(x) ↔ (x �= 1)
∧ x∧

z=0

[(z = 1)
∨

(z = x)
∨ ∼ (z|x)] .

� 0 ������Æ�	� x �= 1, z = 1, z = x, z|x �����	
����
�� 2.11 ��	�� Prime(x) �����	
���

�� 2.18 �� Pr(n) &	� n ������� Pr(0) = 0���

Pr(0) = 0,

Pr(n+ 1) = MPr(n)!+1
y=0 [Prime(y)

∧
y > Pr(n)],

���� Pr(n) ����	
���
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�� 2.19 �� [x/2], J(x, y), K(z), L(z) �	!���

[x/2] = Mx
y=0(2y + 2 > x),

J(x, y) = [((x+ y)2 + 3x+ y)/2],

K(z) = Mz
x=0

z∨
y=0

[z = J(x, y)],

L(z) = Mz
y=0

z∨
x=0

[z = J(x, y)],

���������	
���

2.4 ��������

�����������������

R,L, S0, S1, · · · , q1, q2, · · · .
�������	�������� 	���	
�

q11111, q11Rq2, S2g1BB1S3Rg2

��	������!��������,������
	�

R → 3, L→ 5,

S0 → 7, q1 → 9,

S1 → 11, q2 → 13,

S2 → 15, q3 → 17,

S3 → 19, q4 → 21,
...

...


��� i��� Si �� 4i+ 7��� qi �� 4i+ 5���	�� q11111 ��
������ 9, 11, 11, 11, 11�q11Rq2 ������ 9, 11, 3, 13�S2g1BB1S3Rg2

������ 15, 9, 7, 7, 11, 19, 3, 13�

�� 2.6 
	�� M ��� r1, r2, · · · , rk #������� a1, a2, · · · , ak �

��'��������� gn(M) �&		�� M ���������

gn(M) =
k∏

t=1

Pr(t)at .


 M1,M2, · · · ,Ml � l �	��#����������� Gn(M1, · · · ,Ml)
�	!������������

Gn(M1, · · · ,Ml) =
l∏

t=1

Pr(t)gn(Mt).
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�

gn(q11BS2) = 29 · 311 · 57 · 715,

gn(q11Rq2) = 29 · 311 · 53 · 713,

Gn(q11BS2, q11Rq2) = 229·311·57·715 · 329·311·53·713

,

gn(q11BS2q11Rq2) = 29 · 311 · 57 · 715 · 119 · 1311 · 173 · 1913.

� Z = {M1, · · · ,Ml} �������

z = Gn(M1, · · · ,Ml),

���� z ���� Z ������������ l � ��������
� Z (� l! 
 �����������(� l! ������

�� 2.7 	� Tn(z, x1, · · · , xn, y) &	�� (z, x1, · · · , xn, y) ���z ����
�� Z ������y �	!� q1x1, · · · , xn � Z ���������

	
����� Z = {M1, · · · ,Ml}�	!� q1x1, · · · , xn ���� Z ���
��

α1 → · · · → αp = ResZ(α1).




z = Gn(M1, · · · ,Ml),

y = Gn(α1, · · · , αp).

� (z, x1, · · · , xn, y) ��	� Tn(z, x1, · · · , xn, y)�
�	�"	�����	!����0������	
�������

	���������
	� Tn(z, x1, · · · , xn, y) ����	
���

(1) ��� n, x ���

nGlx = Mx
y=0[(Pr(n)y|x)

∧
∼ (Pr(n)y+1|x)]

����	
���


 x = gn(M)�M ���� r1, · · · , rk ����	����

nGlx =

{
rn�����, 1 ≤ n ≤ k,
0, n = 0, n > k.

,


 Gn(M1, · · · ,Ml)��� M1, · · · ,Ml �	����

nGlx =

{
gn(Mn), 0 < n ≤ l,
0, n = 0, n > l.

(2) ��
L(x) = Mx

y=0[(yGlx > 0)
∧∧x

i=0(y + i+ 1)Glx = 0]

����	
���
 x = gn(M)�M ���� r1, · · · , rk�����
	���� L(x) = k�
 x = Gn(M1, · · · ,Ml)��� M1, · · · ,Ml �	�

��� L(x) = l�
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(3) 	�

GN(x) ↔∼
L(x)∨
y=0

[((yGlx = 0)
∧

(y + 1)Glx �= 0)]

����	
���	� GN(x) ����1��
����,��
ak, 1 ≤ k ≤ n���

x =
n∏

k=1

Pr(k)ak .

(4) 	�

Term(x, z) ↔ GN(z)
∧ L(x)∨

n=0

[(x = nGlz)
∧

(n �= 0)]

����	
���	� Term(x, z) ����1��
�������
�� ak > 0 ��

z =
n∏

k=1

Pr(k)ak

� x ����� ak, 1 ≤ k ≤ n�

(5) ��

x ∗ y = x ·
L(y)−̇1∏

i=0

Pr(L(x) + i+ 1)(i+1)Gly

����	
���
M,N ��	���� gn(MN) = gn(M)∗gn(N)�



x = Gn(M1, · · · ,Mn), y = Gn(N1, · · · , Nk),

�

x ∗ y = Gn(M1, · · · ,Mn, N1, · · · , Nk).

(6) 	�

IC(x) ↔
x∨

y=0

(x = 4y + 9)

����	
���	� IC(x) ����1��
�� x ���� qi �
����

(7) 	�

Al(x) ↔
x∨

y=0

(x = 4y + 7)

����	
���	� Al(x) ����1��
�� x ���� Si �
����
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(8) 	�

Odd(x) ↔
x∨

y=0

(x = 2y + 3)

����	
���

	� Odd(x) ����1��
�� x �������� 3 ����

(9) 	�

Quad(x) ↔ GN(x)
∧

(L(x) = 4)∧
IC(1Glx)

∧
Al(2Glx)

∧
Odd(3Glx)

∧ ∼ IC(3Glx)
∧

IC(4Glx)

����	
���	� Quad(x) ����1��
�� x ���� 
��������

(10) 	�

Inc(x, y) ↔ Quad(x)
∧

Quad(y)∧
(1Glx = 1Gly)

∧
(2Glx = 2Gly)

∧
(x �= y)

����	
���	� Inc(x, y) ����1��
�� x, y 1'&	
�� ������������� ����������!�

(11) 	�

TM(x) ↔ GN(x)
∧ L(x)∧

n=1

⎡
⎣Quad(nGlx)

∧ L(x)∧
m=1

∼ (Inc(nGlx,mGlx))

⎤
⎦

����	
���	� TM(x) ����1��
�� x ������
�����

(12) ��
MR(n) = gn(1n+1) = gn(n)

����	
�����

MR(0) = 211,

MR(n+ 1) = 211 ∗ MR(n).

(13) �� CU(n, x) ���

CU(n, x) =

{
0, 
nGLx �= 11,
1, 
nGLx = 11.

����	
������� CU(n, x) ����	
�	� nGLx �= 11
������

(14) ��

Corn(x) =

L(x)∑
n=1

CU(n, x)

����	
���
 x = gn(M)�� Corn(x) = 〈M〉�
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(15) ��

U(y) = Corn(L(y)Gly)

����	
���
 y = Gn(M1, · · · ,Mn)�� U(y) = 〈Mn〉�
(16) 	�

ID(x) ↔ GN(x)
∧ L(x)−̇1∨

n=1

{IC(nGlx)
∧ L(x)∧

m=1

[(m = n)
∨

Al(mGlx)]}

����	
���	� ID(x) ����1��
�� x ���	��
�����

(17) ��

Initn(x1, · · · , xn) = 29 ∗ MR(x1) ∗ 27 ∗ MR(x2) ∗ 27 ∗ · · · ∗ MR(xn)

����	
���
 Initn(x1, · · · , xn) = gn(q1(x1, · · · , xn))�

(18) 	�

Yield1(x, y, z) ↔ ID(x)
∧

ID(y)
∧

TM(z)

∧{
x∨

F=0

x∨
G=0

x∨
r=0

x∨
s=0

x∨
t=0

x∨
u=0

[(x = F ∗ 2r ∗ 2s ∗G)]

∧
(y = F ∗ 2t ∗ 2u ∗G)

∧
IC(r)

∧
IC(t)

∧
Al(s)

∧
Al(u)∧

Term(2r ∗ 3s ∗ 5u ∗ 7t, z)]}
����	
���	� Yield(x, y, z) ����1��
��� z ��
���� Z �����x, y 1'&	���	!� M1,M2 ������

M1 →M2(Z)

���� 1.2 �������

(19) 	�

Yield2(x, y, z) ↔ ID(x)
∧

ID(y)
∧

TM(z)

∧{
x∨

F=0

x∨
G=0

x∨
r=0

x∨
s=0

x∨
t=0

x∨
u=0

[(x = F ∗ 2r ∗ 2s ∗ 2t ∗G)]

∧
(y = F ∗ 2s ∗ 2u ∗ 2t ∗G)

∧
IC(r)

∧
IC(u)

∧
Al(s)

∧
Al(t)∧

Term(2r ∗ 3s ∗ 53 ∗ 7u, z)]}
����	
���	� Yield(x, y, z) ����1��
��� z ��
���� Z �����x, y 1'&	���	!� M1,M2 ������

M1 →M2(Z)

���� 1.2 �������
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(20) 	�

Yield3(x, y, z) ↔ ID(x)
∧

ID(y)
∧

TM(z)

∧{
x∨

F=0

x∨
G=0

x∨
r=0

x∨
s=0

x∨
t=0

x∨
u=0

[(x = F ∗ 2r ∗ 2s)]

∧
(y = F ∗ 2s ∗ 2t ∗ 27)

∧
IC(r)

∧
IC(t)

∧
Al(s)∧

Term(2s ∗ 3t ∗ 53 ∗ 7u, z)]}
����	
���	� Yield(x, y, z)����1��
��� z ���
��� Z ����� x, y 1'&	���	!� M1,M2 ������

M1 →M2(Z)

���� 1.2 ��
����

(21) 	�

Yield4(x, y, z) ↔ ID(x)
∧

ID(y)
∧

TM(z)

∧{
x∨

F=0

x∨
G=0

x∨
r=0

x∨
s=0

x∨
t=0

x∨
u=0

[(x = F ∗ 2r ∗ 2s ∗ 2t ∗G)]

∧
(y = F ∗ 2u ∗ 2r ∗ 2t ∗G)

∧
IC(s)

∧
IC(u)

∧
Al(r)

∧
Al(t)∧

Term(2s ∗ 3t ∗ 55 ∗ 7u, z)]}
����	
���	� Yield(x, y, z) ����1��
��� z ��
���� Z �����x, y 1'&	���	!� M1,M2 ������

M1 →M2(Z)

���� 1.2 �� ����

(22) 	�

Yield5(x, y, z) ↔ ID(x)
∧

ID(y)
∧

TM(z)

∧{
x∨

G=0

x∨
r=0

x∨
s=0

x∨
t=0

x∨
u=0

[(x = 2r ∗ 2s ∗G)]

∧
(y = 2t ∗ 27 ∗ 2s ∗G)

∧
IC(s)

∧
IC(t)

∧
Al(s)∧

Term(2r ∗ 3s ∗ 55 ∗ 7t, z)]}
����	
���	� Yield5(x, y, z) ����1��
��� z ��
���� Z �����x, y �1'&	���	!� M1,M2 �����
�

M1 →M2(Z)

���� 1.2 ��2����

(23) 	�

Yield(x, y, z) ↔ Yield1(x, y, z)
∨

Yield2(x, y, z)∨
Yield3(x, y, z)

∨
Yield4(x, y, z)

∨
Yield5(x, y, z)
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����	
���	� Yield(x, y, z) ����1��
��� z ��
���� Z �����x, y 1'&	���	!� M1,M2 ������

M1 →M2(Z)

���� 1.2 ��#�
���

(24) 	�

Fin(x, z) ↔ ID(x)
∧

TM(z)

∧ x∨
F=0

x∨
F=0

x∨
s=0

{(x = F ∗ 2r ∗ 2s ∗G)
∧

IC(r)
∧

Al(s)

∧ L(z)∧
n=1

[(1Gl(nGlz) �= r)
∨

(2Gl(nGlz) �= s)]}

����	
���	� Fin(x, z) ����1��
���z ����
�� Z ����� x ��� Z ���

�������

(25) 	�

Comp(y, z) ↔ TM(z)
∧

GN(y)
∧ L(y)−̇1∧

n=1

Yield(nGly, (n+ 1)Gly, z)

∧
Fin(L(y)Gly, z)

����	
���	� Comp(y, z) ����1��
���z ���
��� Z ����� y ����� Z ���������

2.5 ���������

�� 2.13 	� Tn(z, x1, · · · , xn, y) ����	
���

��
�	� Tn(z, x1, · · · , xn, y) �	!�

Tn(z, x1, · · · , xn, y) ↔ Comp(y, z)
∧

(1Gly = Initn(x1, · · · , xn)).

�	!���	� Tn(z, x1, · · · , xn, y) ����	
��� �

�� 2.14 �
�����
���

��
�
�� f(x(n)) ����
������������ Z0���

f(x(n)) = ψ
(n)
Z0

(x(n)).

� z0 ���� Z0 �������	� Tn(z, x(n), y)���
�������
���

CTn(z, x
(n), y) =

{
0, (z, x(n), y) ∈ Tn(z, x(n), y),
1, �0.

43



�����
�����	!� α1 = q1x(n) ���� Z0 �����

α1 → α2 → · · · → αp = ResZ0(α1)

�

f(x(n)) = ψ
(n)
Z0

(x(n))

= 〈αp〉
= U(Gn(α1, · · · , αp))

= U

(
min

y
[CTn(z0, x

(n), y) = 0]

)
.

�	!�������
����
��� �
����
������	��
��

�� 2.15 ������
�������
����
���
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� 3 �

�����Diophantine Set�

	�������������������


a = αb(c), b
c,

(
n

m

)
, m!

����������
�����������������������
��� 1 ������ S���� N − S ��������

3.1 ����

������ (Diophantine equation) ����������
�����	

�

xy + 2x+ 2y − a = 0, x5y3 + y2z3 − 2z6 = 0, · · ·
�������������
���� a1, · · · , an, x1, · · · , xm ������
�

D(a1, · · · , an, x1, · · · , xm) = 0

�1��� a1, · · · , an �-�� x1, · · · , xm�

�� 3.1 � S ��� Nn ���)���
�����������

D(a1, · · · , an, x1, · · · , xm) = 0,

�� (a1, · · · , an) ∈ S �����
���� (x1, · · · , xm) ∈ Nm ��

D(a1, · · · , an, x1, · · · , xm) = 0,

�� S ��� n ��� ����( Diophantine set)����� S ����
�����
����� S ����)

(a1, a2, · · · , an) ∈ S ⇐⇒ ∃x1, · · · , xm[D(a1, · · · , an, x1, · · · , xm) = 0]

����������

D(a1, · · · , an, x1, · · · , xm) = 0

��� S ������	�(Diophantine representation)�
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�� 3.1 �	����� 1 ��������

(1) �������	���� A = {0, 2, 4, 6, 8, · · · } ����������
a ∈ A⇐⇒ ∃x [ a− 2x = 0].

(2) �������	���� B = {1, 3, 5, 7, 9, · · · } ����������
a ∈ B ⇐⇒ ∃x [ a− (2x+ 1) = 0].

(3) ��,�����	���� C ����������

a ∈ C ⇐⇒ ∃x1, x2 [ a− (x1 + 2)(x2 + 2) = 0].

(4) ���� 2 ����������	���� D = N −{20, 21, 22, 23, · · · }
����������

a ∈ D ⇐⇒ ∃x1, x2 [ a− x1(2x2 + 3) = 0].

(5) �����	���� {2, 3, 5, 7, · · · } ��������������

�������
��

�� 3.2 �	����� 2 ��������

(1) �� E = {(a, b) ∈ N2| a < b} ����������
(a, b) ∈ E ⇐⇒ ∃x [ a+ 1 − b+ x = 0].

(2) �� F = {(a, b) ∈ N2|a ≤ b} ����������
(a, b) ∈ F ⇐⇒ ∃x [ a− b+ x = 0].

(3) �� G = {(a, b) ∈ N2| a �= b} ����������
(a, b) ∈ G⇐⇒ ∃x [ (a− b)2 − (x+ 1) = 0].

(4) �� H = {(a, b) ∈ N2| a|b} ����������
(a, b) ∈ H ⇐⇒ ∃x [ ax− b = 0].

�� 3.1 
��� S1, S2 ��� n ����������� S1 ∪ S2 �3�

S1 ∩ S2 ��� n ��������

��
������ S1, S2 ����	�1'��

D1(a1, · · · , an, x1, · · · , xm1) = 0,

�

D2(a1, · · · , an, x1, · · · , xm2) = 0.
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������	�������

D1(a1, · · · , an, x1, · · · , xm1) ·D2(a1, · · · , an, x1, · · · , xm2) = 0

�

D2
1(a1, · · · , an, x1, · · · , xm1) +D2

2(a1, · · · , an, x1, · · · , xm2) = 0

1'� S1 ∪ S2 � S1 ∩ S2 ����	�� �
�������) �������
��������������


	��� S ��� n ��������������)�

(a1, · · · , an) ∈ S ⇐⇒ ∃x1, · · · , xk[D(a1, · · · , an, x1, · · · , xk) = 0].

� m ���,������ Sm �

Sm = {(a1, · · · , an, b1, · · · , bm)|(a1, · · · , an) ∈ S, bi ∈ N, i = 1, · · · , m}.
�����	�������

D(a1, · · · , an, x1, · · · , xk) = 0,

�� Sm ����	���� Sm ��� n+m ��������	
��	
� 3.2(2) �
� {(a, b, c) ∈ N3|a < c} ������
� b ����c �,��������� b div c, rem(b, c) &	 b �� c �

����
��� arem(b, c) &	

min{|x| | x ≡ b (mod c)},
����� b div c, rem(b, c), arem(b, c) � c = 0 ������� gcd(b, c) &	
,�� b, c �������lcm(b, c) &	,�� b, c �������� b � c
����,�������� gcd(b, c) � lcm(b, c) �����

�� 3.3 �	����������

(1) �� I = {(a, b, c) ∈ N3|a = rem(b, c)} ����������
a = rem(b, c) ⇐⇒ a < c

∧
c|(b− a),

�� I ����� {(a, b, c) ∈ N3|a < c} �����
{(a, b, c) ∈ N3|c|(b− a)}

�3����� 3.1 ��I ������

(2) �� J = {(a, b, c) ∈ N3|a = b div c} ����������
a = b div c ⇐⇒ 0 ≤ b− ac < c

�� J ����� {(a, b, c) ∈ N3|0 < b− ac} �����
{(a, b, c) ∈ N3|b− ac < c}

�3��
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(3) �� K = {(a, b, c) ∈ N3|a ≡ b (mod c)} ����������
a ≡ b (mod c) ⇐⇒ c > 0

∧
c|(a− b).

�� K ����� {(a, b, c) ∈ N3|c > 0} �����
{(a, b, c) ∈ N3|c|(a− b)}

������� 3.1 ��K ������

(4) �� L = {(a, b, c) ∈ N3|a = gcd(b, c)} ����������
a = gcd(b, c) ⇐⇒ bc > 0

∧
a|b ∧ a|c ∧ ∃x, y[a = bx− cy],

�� L �������� M = {(a, b, c) ∈ N3|a = lcm(b, c)} �����
������ bc = gcd(b, c)lcm(b, c) �

a = lcm(b, c) ⇐⇒ ∃x, y, z[bc = ax
∧
bc > 0

∧
x|b ∧ x|c ∧ x = by − cz],

�� M ������

(5) �� N = {(a, b, c) ∈ N3|a = arem(b, c)} ����������
a = arem(b, c) ⇐⇒ c > 0

∧
0 ≤ 2a ≤ c

∧
[ c|(b− a)

∨
c|(b+ a) ].

3.2 ���������������

��� S ⊂ Nn ��� f : S → N�
��� f(x1, x2, · · · , xn) �� (graph)

{(x1, · · · , xn, y) ∈ Nn+1 | (x1, · · · , xn) ∈ S, y = f(x1, · · · , xn)}
���������� f(x1, x2, · · · , xn)�������� (Diophantine function)�
���� f ������

�� 3.4 	������������

(1) �� I = {(a, b, c) ∈ N3| a = rem(b, c)} ���������� rem(b, c) �
�����

(2) �� N = {(a, b, c) ∈ N3| a = arem(b, c)} ���������� arem(b, c)
������

(3) �� J = {(a, b, c) ∈ N3| a = b div c} ���������� b div c ��
����

(4) �� L = {(a, b, c) ∈ N3 |a = gcd(b, c)},M = {(a, b, c) ∈ N3 |a = lcm(b, c)}
���������� gcd(b, c), lcm(b, c) ������

(5) ��

R(x, y) =

{
0, y = 0,
x div y, y �= 0

}
.

������������

{(x, y, z)|z = R(x, y)} = {(x, y, z)|z = rem(x, y)
∨

(y = 0
∧
z = 0)}

���������� R(x, y) ������
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(6) ����� 2.2 ���� J(x, y), K(z), L(z) �����������

J(K(z), L(z)) = z

�

z = J(x, y) ⇐⇒ 2z = (x+ y)2 + 3x+ y,

x = K(z) ⇐⇒ ∃y [2z = (x+ y)2 + 3x+ y],

y = L(z) ⇐⇒ ∃x [2z = (x+ y)2 + 3x+ y].

���
��� xy �������������*��	�����

b ≥ 2 ���,����� 〈αb(n)〉 ��
	
��
αb(−1) = −1, αb(0) = 0, αb(n + 2) = bαb(n + 1) − αb(n), (n ≥ −1).

���

Ab(n) =

(
αb(n + 1) −αb(n)
αb(n) −αb(n− 1)

)
,

E =

(
1 0
0 1

)
,

Eb =

(
b −1
1 0

)
.

���

Ab(0) = E,Ab(n+ 1) = Ab(n)Eb, Ab(n) = En
b , (3.1)

��

detAb(n) = 1,




α2
b(n) − αb(n + 1)αb(n− 1) = 1.

�����
�������


�� 3.2 � (x, y) ����

x2 − bxy + y2 = 1, x > y (3.2)

�������������
������ m ∈ N ��

x = αb(m+ 1), y = αb(m). (3.3)

��
���� m ∈ N ,

x = αb(m+ 1), y = αb(m)

������ (3.2) �������'(�
 (x, y) ���� (3.2) �����
�������� (3.3) � x ����������

x1 = y, y1 = by − x. (3.4)
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�� x2 − bxy + y2 = 1, y ≥ 1, x > y���

y1 = by − x =
y2 − 1

x
≥ 0,

x1 − y1 = x+ y − by =
x2 + xy − bxy

x
=
xy − y2 + 1

x
> 0.

���

x2
1 − bx1y1 + y2

1 = y2 − by(by − x) + (by − x)2

= x2 − bxy + y2

= 1,

�� (x1, y1) ����� (3.2) ������� x1 = y < x�����
���
�� m ∈ N , ��

x1 = αb(m+ 1), y1 = αb(m).

&� (3.4) ��

x = bx1 − y1 = αb(m+ 2),

y = x1 = αb(m+ 1).

���%���%������ (3.2) ����

x = αb(m+ 1), y = αb(m), m ∈ N.

�
�� 3.3 
 α2

b(k)|αb(m), � αb(k)|m.

��
�� m = kl + n, 0 ≤ n < k���(
αb(m+ 1) −αb(m)
αb(m) −αb(m− 1)

)
= Ab(m)

= Em
b

= En+kl
b

= En
b (Ek

b )l

= Ab(n)Al
b(k)

=

(
αb(n + 1) −αb(n)
αb(n) −αb(n− 1)

)(
αb(k + 1) −αb(k)
αb(k) −αb(k − 1)

)l

,

���(
αb(m+ 1) −αb(m)
αb(m) −αb(m− 1)

)

≡
(
αb(n + 1) −αb(n)
αb(n) −αb(n− 1)

)(
αb(k + 1) 0

0 −αb(k − 1)

)l

(mod αb(k)),
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�*�4	������

αb(m) ≡ αb(n)αl
b(k + 1) (mod αb(k)).

�� αb(k) � αb(k + 1) 5���� αb(k) �� αb(n)���� αb(n) < αb(k)�
�� n = 0���� m = kl�&+�����

Ab(m) = Al
b(k)

= (αb(k)Eb − αb(k − 1)E)l

=

l∑
i=0

(−1)l−i

(
l

i

)
αi

b(k)α
l−i
b (k − 1)Ei

b.

��

Ab(m) =

(
αb(m+ 1) −αb(m)
αb(m) −αb(m− 1)

)
≡ (−1)lαl

b(k − 1)E + (−1)l−1lαb(k)α
l−1
b (k − 1)Eb (mod α2

b(k)),

*�4	������

αb(m) ≡ (−1)l−1lαb(k)α
l−1
b (k − 1) (mod α2

b(k)). (3.5)

�� α2
b(k)|αb(m)���

αb(k)|lαl−1
b (k − 1).

��� αb(k), αb(k − 1) 5����

αb(k)|l,



αb(k)|m.
�

�� 3.4 � a, b, c �������
�b ≥ 4, c ≥ 0 � a = αb(c) �����

��	���������� u, t, s, r, v, w, x � y�

b ≥ 4, (3.6)

u2 − but+ t2 = 1, (3.7)

s2 − bsr + r2 = 1, (3.8)

r < s, (3.9)

u2|s, (3.10)

v = bs− 2r, (3.11)

v|w − b, (3.12)

u|w − 2, (3.13)
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w > 2, (3.14)

x2 − wxy + y2 = 1, (3.15)

2a < u, (3.16)

a = arem(x, v), (3.17)

c = arem(x, u). (3.18)

���
��� {(a, b, c) ∈ N3 | b ≥ 4
∧

a = αb(c)} ������
�� αb(c)
����� (b, c) ∈ {4, 5, · · · , } ×N)	������

��
�%�

 a, b, c����� (3.6) ∼ (3.18)�� b ≥ 4, c ≥ 0� a = αb(c).
� (3.6), (3.7), �� 3.2 � (3.10) ������ k ∈ N ��

u = αb(k) > 0; (3.19)

!��� (3.6), (3.8) � (3.9) ������,�� m ��

s = αb(m), r = αb(m− 1). (3.20)

� (3.11), (3.20) ��� 〈αb(m)〉 ��

v = bs− 2r = αb(m+ 1) − αb(m) > 0. (3.21)

� (3.10), (3.19) � (3.20) ��� 3.3 ���

u|m. (3.22)

�� (3.14) � (3.15) ������ n ∈ N ��

x = αw(n). (3.23)


 w ≡ b (mod v)�� x = αw(n) ≡ αb(n) (mod v) �����
������
�����	��� α2(n) = n���� (3.12) � (3.13) 1'���

w ≡ b (mod v) =⇒ x = αw(n) ≡ αb(n) (mod v); (3.24)

w ≡ 2 (mod u) =⇒ x = αw(n) ≡ α2(n) = n (mod u). (3.25)

�

n = 2lm± j, j ≤ m. (3.26)

� (3.1) ���

Ab(n) = En
b

= E2lm±j
b

=
(
(Em

b )2
)l
E±j

b

=
(
(Ab(m))2

)l
Ab(j)

±1. (3.27)
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� (3.21) ��

Ab(m) =

(
αb(m+ 1) −αb(m)
αb(m) −αb(m− 1)

)

≡ −
(−αb(m− 1) αb(m)

−αb(m) αb(m− 1)

)
(mod v)

≡ −Ab(m)−1 (mod v),

��

Ab(m)2 ≡ −E (mod v). (3.28)

� (3.27), (3.28) ��
Ab(n) ≡ ±Ab(j)

±1 (mod v). (3.29)

� (3.24), (3.29) � detAb(j) = 1 ��

x ≡ αb(n) ≡ ±αb(j) (mod v). (3.30)

� (3.26), (3.6), (3.11)� (3.20) ��

2αb(j) ≤ 2αb(m) ≤ (b− 2)αb(m) < bαb(m) − 2αb(m− 1) = v. (3.31)

� (3.17), (3.23), (3.24), (3.30)� (3.31) ����

a = arem(x, v) = arem(αb(n), v) = αb(j). (3.32)

&� (3.16) � (3.32) ����

2j ≤ 2αb(j) = 2a < u. (3.33)

� (3.18), (3.22), (3.25)� (3.26) ��

c = arem(x, u) = arem(n, u) = j. (3.34)

� (3.32) � (3.34) ��� a = αb(c)�
'(�
 a = αb(c), b ≥ 4, c ≥ 0�����
������ u, t, s, r, v, w, x

� y ���� (3.6) ∼ (3.18) ���% 

u = αb(k), t = αb(k + 1),

�� k ∈ N, u > 2a�� u ��������
� (3.7), (3.16)	�
& m = uk �

s = αb(m), r = αb(m− 1) , m = uk,

���� (3.8)�� (3.5) �

s = αb(uk) ≡ (−1)u−1uαb(k)α
u−1
b (k − 1) (mod u2).

� u2|s���
� (3.10)	� v = bs−2r ���
� (3.11)	�
 d|u, d|v�
� d|s, d|2r��� u������ d������� d|r���� s = αb(m), r =
αb(m− 1) 5���� d = 1�
 u, v 5��
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�����������
�� w ��
� (3.12), (3.13), (3.14)��

x = αw(c), y = αw(c+ 1).

����
� (3.15)�� (3.12) ���

x = αw(c) ≡ αb(c) = a (mod v),

�� (3.11) ��

v = bs− 2r > 4αb(m) − 2αb(m− 1) > 2αb(m) = 2αb(uk) > αb(k) = u > 2a,

��

a = arem(x, v),

����
� (3.17)��

x = αw(c) ≡ α2(c) = c (mod w − 2),

x ≡ c (mod u)���(3.13)	,

2c ≤ 2αb(c) = 2a < u,

��

c = arem(x, u)

����
� (3.18)��� (3.6) ∼ (3.18) ���� �

�� 3.5 
�� 00 = 1, ���� f(b, c) = bc ����� N2 	�����
��
�� {(a, b, c) ∈ N3|a = bc} ��������
��
�
 b ≥ 2, �� n ����
���

(b− 1)n ≤ αb(n+ 1) ≤ bn.

������� x > 4� ������

αbx+4(c+ 1)

αx(c+ 1)
≥ (bx+ 3)c

xc
≥ bc.


 c = 0 �� �
αbx+4(c+ 1)

αx(c+ 1)
= 1 = bc.


 b = 0, c > 0 ���

0 <
αbx+4(c+ 1)

αx(c+ 1)
<

4c

(x− 1)c
≤ 1.

��� b = 0 � c = 0 ����

bc = αbx+4(c+ 1) div αx(c+ 1).
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 b ≥ 1, c ≥ 1 � x > 16c ���

αbx+4(c+ 1)

αx(c+ 1)
≤ (bx+ 4)c

(x− 1)c

≤ (1 + 4/x)c

(1 − 1/x)c
bc

≤ bc

(1 − 1/x)c(1 − 4/x)c

≤ bc

(1 − 4/x)2c

≤ bc

1 − 8c
x

≤ bc
(

1 +
16c

x

)
.

� x > 16(c+ 1)(b+ 1)c ��

bc ≤ bc
(

1 +
16c

x

)
< bc + 1,




αbx+4(c+ 1) div αx(c+ 1) = bc.

��� 

x = 16(c+ 1)αb+4(c+ 1)

���

bc = αbx+4(c+ 1) div αx(c+ 1).

���� b div c, αb(c) ���������� bc ������ �
������� a��,�� b ≥ 2 ��� a �����

a = an+1b
n + anb

n−1 + · · ·+ a2b
1 + a1b

0,

��

0 ≤ ai < b, i = 1, · · · , n+ 1.

����� Elem(a, b, k + 1) &	���� bk 
������� ak+1���

e = Elem(a, b, k + 1) ⇐⇒ ∃x, y
[a = xbk+1 + ebk + y

∧
e < b

∧
y < bk].

���� Elem(a, b, k + 1) ���������

�� 3.6 
�� (
0

m

)
=

{
1 m = 0,
0 m ≥ 1,

��� f(n,m) =
(

n
m

)
������������� N2	�
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��
�Æ�

(b+ 1)n =
n∑

i=0

(
n

i

)
bi.

��
(

n
i

)
< 2n + 1(0 ≤ i ≤ n)���

c =

(
n

m

)
⇐⇒ c = Elem((2n + 2)n, 2n + 1, m+ 1).

��� f(n,m) =
(

n
m

)
��������� �

�� 3.7 
�� 0! = 1���� f(m) = m! ���������

��
�� n ≥ m ≥ 0 ��

m! =
n!(

n
m

)
(n−m)!

=
n(n− 1) · · · (n−m+ 1)(

n
m

)
=

nm(
n
m

) (1 − 1

n

)
· · ·
(

1 − m− 1

n

)

= lim
n→∞

nm(
n
m

) (1 − 1

n

)
· · ·
(

1 − m− 1

n

)

= lim
n→∞

nm(
n
m

) ,
����

a(n) =
nm(
n
m

)
���,�� m! �
����
 n �������

m! ≤ nm(
n
m

) < m! + 1




m! = nmdiv

(
n

m

)
.

 n = (m+ 1)m+2��

m! = (m+ 1)m(m+2)div

(
(m+ 1)m+2

m

)
.

���� f(m) = m! ������������ �
�� 3.8 ���	������������

��
���� Prime(a) &	 a ��������

Prime(a) ⇐⇒ a > 1
∧

gcd(a, (a− 1)!) = 1.

������������	������������ �
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3.3 ����������

� P (x1, · · · , xn) ������� (x1, · · · , xn) ∈ Nn �	��
��

D = {(x1, · · · , xn) ∈ Nn|	�P (x1, · · · , xn)��}
��������	� P (x1, · · · , xn) �������

a1, · · · , an ∈ N (3.35)

�������������
��� (a, b, c) �&	�������

c = n, (3.36)

b > ai, i = 1, · · · , n, (3.37)

a = anb
n−1 + · · ·+ a1b

0. (3.38)



��� (a, b, c) ��
� (3.36), (3.37)� (3.38)�� (a, b, c) ������
� (3.35)������ (a, b, c) ��� (3.35) �  
	 (positionalcode)�� 

	� ����
�������������� 
	���� 
	�
����������������
����� 
	����
���

�������������������
���	
��

b ≥ 2
∧
a < bc, (3.39)

��� Code(a, b, c) �	!��	� (3.39) �
��� (a, b, c)��	!��
��	� Code(a, b, c) ������

 
	 (a1, b1, c1) � (a2, b2, c2) ����!������������

	�

Equal(a1, b1, c1, a2, b2, c2)

�	!�����
	� Equal(a1, b1, c1, a2, b2, c2) �������6	�
NotGreater(a1, b1, a2, b2) � Small(a, b, c, e) 1'��
	�

NotGreater(a1, b1, a2, b2) ⇐⇒ ∀k ≥ 1[Elem(a1, b1, k) ≤ Elem(a2, b2, k)],

Small(a, b, c, e) ⇐⇒ Code(a, b, c)
∨∀k ≥ 1[Elem(a, b, k) ≤ e].

�	!��#� ∀k ������/���'	� NotGreater(a1, b1, a2, b2) �
Small(a, b, c, e) �	��������
�	��	�(���������
����
	� PNotGreater(a1, a2, b) ��
	�

PNotGreater(a1, a2, b) ⇐⇒ Prime(b)
∧

NotGreater(a1, b, a2, b).

� b �������� (
m+ n

m

)
=

(m+ n)!

m!n!
,

��

degb

(
m+ n

m

)
= degb(m+ n)! − degbm! − degbn!,

57



�� degbk &	 k ����1�� b ���������

degbk! =
∑
i≥1

k div bi.

�

a2 ≥ a1,

a1 = kcb
c−1 + · · · + k1b

0,

a2 − a1 = k′cb
c−1 + · · ·+ k′1b

0,

�� 0 ≤ k′i, ki < b, i = 1, · · · , c. 
 0 ≤ ki + k′i < b, i = 1 · · · , c, ���
�

(a1, b, a2, b) ∈ NotGreater(a1, b, a2, b) �

degb

(
a2

a1

)
= degba2! − degba1! − degb(a2 − a1)!

=

c−1∑
j=1

(
a2 div bj − a1 div bj − (a2 − a1) div bj

)
= 0.


���� i �� b ≤ ki + k′i < 2b, �

(ki + k′i)b
i−1 div bj = kib

i−1 div bj + k′ib
i−1 div bj , j �= i,

��

(ki + k′i)b
i−1 div bi = kib

i−1 div bi + k′ib
i−1 div bi + 1 = 1.

��
 (a1, b, a2, b) �∈ NotGreater(a1, b, a2, b), �

degb

(
a2

a1

)
=

c−1∑
j=1

(
a2 div bj − a1 div bj − (a2 − a1) div bj

)

≥
c−1∑
j=1

c∑
l=1

(
(kl + k′l)b

l−1 div bj − klb
l−1 div bj − k′lb

l−1 div bj
)

≥
c−1∑
j=1

(
(ki + k′i)b

i−1 div bj − kib
i−1 div bj − k′ib

i−1 div bj
)

= (ki + k′i)b
i−1 div bi − kib

i−1 div bi − k′ib
i−1 div bi = 1.

�� (a1, b, a2, b) ��	� NotGreater(a1, b, a2, b) �����
���

degb

(
a2

a1

)
= 0,




b � |
(
a2

a1

)
.
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��

PNotGreater(a1, a2, b) ⇐⇒ Prime(b)
∧
b � |(a2

a1

)
.

�	!����	� PNotGreater(a1, a2, b) ������
	� PSmall(a, b, c, e) ��
	�

PSmall(a, b, c, e) ⇐⇒ Prime(b)
∧

Small(a, b, c, e)

⇐⇒ Prime(b)
∧

[e ≥ b
∨

PNotGreater(a,Repeat(e, b, c), b)].

�� Repeat(e, b, c) = e(bc − 1)/(b − 1)�
 e < b�� (Repeat(e, b, c), b, c) � c
� e �	�������� 
	��	!����	� PSmall(a, b, c, e) �
�����

	� Eq(a1, b1, c1, a2, b2, c2) ��
	�

Eq(a1, b1, c1, a2, b2, c2) ⇐⇒ Code(a1, b1, c1)
∧
c1 = c2∧

PSmall(a2, b2, c2, b1 − 1)
∧
bc11 + b1 < b2

∧
a1 ≡ a2 (mod b2 − b1).

�	!����	� Eq(a1, b1, c1, a2, b2, c2)������
 b1, a2, b2 (����
���

a1 ≡ a2 (mod b2 − b1),

a1 < bc11 < b2 − b1,

� a1 (����������
�
 (a1, b1, c1, a2, b2, c2) ��	�

Eq(a1, b1, c1, a2, b2, c2)

�� 
	 Code(a1, b1, c1) � Code(a2, b2, c2) ��������!�����
�	� Eq �	!	� Equal 
	�

Equal(a1, b1, c1, a2, b2, c2) ⇐⇒
∃x, y, z[Eq(a1, b1, c1, x, y, z)]

∧
Eq(a2, b2, c2, x, y, z)].

��	� Equal(a1, b1, c1a2, b2, c2) ������!����������	�
�����

NotGreater(a1, b1, a2, b2) ⇐⇒ ∃x1, x2, y, z[Equal(a1, b1, z, x1, y, z)∧
Equal(a2, b2, z, x2, y, z)

∧
PNotGreater(x1, x2, y)],

Small(a, b, c, e) ⇐⇒ ∃x, y[Equal(a, b, c, x, y, c)
∧

PSmall(x, y, c, e)].

��	� NotGreater(a1, b1, a2, b2) � Small(a, b, c, e) ��������	�
SCod(d,m, f, g, h) � Solution(a, b, cL, cR, d,m, f, g, h) ��
	�

SCod(d,m, f, g, h) ⇐⇒
∃s[Equal(f, 2, dm + 1, s, g, dm + 1)

∧
NotGreater(h, g, (g − 1)s, g)].
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Solution(a, b, cL, cR, d,m, f, g, h) ⇐⇒ ∃sL, sR, t, w[

SCod(d,m, f, g, h)∧
w > (1 + a+ h)d−1(cL + cR)∧
Equal(h, g, dm + 1, t, w, dm + 1)∧
Equal(cL, b, d

m+1 + 1, sL, w, d
m+1 + 1)∧

Equal(cR, b, d
m+1 + 1, sR, w, d

m+1 + 1)∧
Elem((1 + aw + t)d−1sL, w, d

m+1 + 1)

= Elem((1 + aw + t)d−1sR, w, d
m+1 + 1)].

�	!����	� SCod(d,m, f, g, h)� Solution(a, b, cL, cR, d,m, f, g, h)��
���������	�����	�	�
�����������

3.4 ��������

���	����%�
�������������&��������

�����������������������
�������������������

a1, · · · , an, k1, · · · , kl, y1, · · · , yw

�������

U(a1, · · · , an, k1, · · · , kl, y1, · · · , yw) = 0

������ n ����������

D(a1, · · · , an, x1, · · · , xm) = 0,

���������� (kD
1 , · · · , kD

l )������

U(a1, · · · , an, k
D
1 , · · · , kD

l , y1, · · · , yw) = 0

������������ D �������� S �!��7�
����

U(a1, · · · , an, k
D
1 , · · · , kD

l , y1, · · · , yw) = 0

����� S �������	����� a1, · · · , an ���� k1, · · · , kl �

��	� y1, · · · , yw �-���
��

(a, b) �→ Cantor2(a, b) =
(a+ b)2 + 3a + b

2
.

���� N2 ������ N �������� Cantorn+1(n ≥ 2) �

Cantorn+1(a1, · · · , an+1) = Cantorn(a1, · · · , an−1,Cantor2(an, an+1)),

� Cantorn+1 ��� Nn+1 ������ N ������	!�

Cantorn(a1, · · · , an)
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����
������������� 22n
���
�

22n

Cantorn(a1, · · · , an)

�������
�����
������
�������������

U(a1, · · · , an, k1, · · · , kl, y1, · · · , yw) = 0,

����� 1 ���	� l + w �-������������

�� 3.9 
���

U(a1, · · · , an, k1, · · · , kl, y1, · · · , yw) = 0

� l ���	�����������

U2(a1, · · · , an, k1, · · · , kl, y1, · · · , yw) + (k − 22l

Cantorl(k1, · · · , kl))
2 = 0

� 1 ���	� k� l + w -��� k1, · · · , kl, y1, · · · , yw ��������
��

��
�����

U
′
(a1, · · · , an, k, k1, · · · , kl, y1, · · · , yw)

= U2(a1, · · · , an, k1, · · · , kl, y1, · · · , yw) + (k − 22l

Cantorl(k1, · · · , kl))
2 = 0.

�����	�� kD
1 , . . . , k

D
l &� U ��������

kD = 22l

Cantorl(k
D
1 , · · · , kD

l )

&� U ′ ��������!��� U ′ ����������� �
����
��� n ≥ 1��� n �������������

�� 3.10 
���������������

U1(a, k, y1, · · · , yw) = 0,

����,�� n���� n �������������

��
�����
���

Un(a1, · · · , an, k, y1, · · · , yw) = U1(2
2n

Cantorn(a1, · · · , an), k, y1, · · · , yw) = 0

� n ��������������������

D(a1, · · · , an, x1, · · · , xm) = 0

��������� Sn, ����

D2(a1, · · · , an, x1, · · · , xm) + (a− 22nCantorn(a1, · · · , an))2 = 0
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�����

S1 = {a = 22n

Cantorn(a1, · · · , an)|(a1, · · · , an) ∈ Sn}
����	��Æ�������	 kD������

U1(a, k
D, y1, · · · , yw) = 0

������ S1 ����	��� Un(a1, · · · , an, k, y1, · · · , yw) = 0 ����
���� Un(a1, · · · , an, k

D, y1, · · · , ym) = 0 ������ Sn��

U(a1, · · · , an, k, y1, · · · , ym) = 0

� n ������������� �

�� 3.11 �� 1 �������������

��
��

D(a, x1, · · · , xm) = 0

� 1 ������������������ D = 0 �
��

CL(a, x1, · · · , xm) = CR(a, x1, · · · , xm),

���
� CL, CR �����������
� CL, CR 
	�

CL(a, x1, · · · , xm) =
∑

i0+···+im<d

cL,i0,··· ,ima
i0xi1

1 · · ·xim
m ,

CR(a, x1, · · · , xm) =
∑

i0+···+im<d

cR,i0,··· ,ima
i0xi1

1 · · ·xim
m .

����� D = 0, ������8��� (b, cL, cR, d,m, f) 
	�

d >������. (3.40)

m =-�����, (3.41)

f = 2d1

+ · · ·+ 2dm

, (3.42)

cL =
∑

i0+···+im<d

i0! · · · im!(d− 1 − i0 − · · · − im)!cL,i0,··· ,imb
dm+1−i0d0−···−imdm

, (3.43)

cR =
∑

i0+···+im<d

i0! · · · im!(d− 1− i0 − · · · − im)!cR,i0,··· ,imb
dm+1−i0d0−···−imdm

, (3.44)

b > d! max{cL,i0,··· ,im, cR,i0,··· ,im}. (3.45)

������������8��� (b, cL, cR, d,m, f) �������� (
�� m ���� )
���
� (b, cL, cR, d,m, f) ��
� (3.40) ∼ (3.45),
� (b, cL, cR, d,m, f) ������������������
� (3.40) ∼
(3.45) �8��� (b, cL, cR, d,m, f) � 
�	 (extended code)������
Db,cL,cR,d,m,f = 0  &��� D = 0�
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�	����
�� 1 ���� 6 ���	���������

U(a, b, cL, cR, d,m, f, y7, · · · , yl) = 0.

�%�
� (a, x1, · · · , xm) ����

Db,cL,cR,d,m,f(a, x1, · · · , xm) = 0 (3.46)

�������������
����� (3.47) ∼ (3.53) ���
�� (g, h, w, t, sL, sR) ∈ N6 ��

g > 1, g > x1, · · · , g > xm, (3.47)

h = x1g
d1

+ x2g
d2

+ xmg
dm

, (3.48)

w > (1 + a+ h)d−1(cL + cR), (3.49)

t = x1w
d1

+ · · ·+ xmw
dm

, (3.50)

sL =
∑

i0+···+im<d

i0! · · · im!(d− 1− i0 − · · ·− im)!cL,i0,··· ,imw
dm+1−i0d0−···−imdm

, (3.51)

sR =
∑

i0+···+im<d

i0! · · · im!(d− 1− i0 −· · ·− im)!cR,i0,··· ,imw
dm+1−i0d0−···−imdm

, (3.52)

Elem((1 + aw + t)d−1sL, w, d
m+1 + 1)) = Elem((1 + aw + t)d−1sR, w, d

m+1 + 1)).
(3.53)


 (a, x1, · · · , xm) �� (3.47) ∼ (3.53)���� (3.50) ��

(1 + aw + t)d−1 = (1 + awd0

+ x1w
d1

+ x2w
d2

+ · · · + xmw
dm

)d−1

=
∑

i0+···+im<d

(
d− 1

i0, · · · , im

)
ai0xi1

1 · · ·xim
m wi0d0+···+imdm

.

���� (1 + aw + t)d−1sL 	!�

(1 + aw + t)d−1sL =
2dm+1−1∑

k=0

CL,kw
k, (3.54)

�� CL,k �� cL,i0···im, a, x1, · · · , xm �����
������

CL,dm+1 =
∑

i0+···+im<d

(d− 1)!cL,i0,··· ,ima
i0xi1

1 · · ·xim
m

= (d− 1)!CL(a, x1, · · · , xm).

� (3.54) � 1  & w � (3.49) ��

w > CL,0, · · · , CL,2dm+1−1.

��

CL(a, x1, · · · , xm) =
Elem

(
(1 + aw + t)d−1sL, w, d

m+1 + 1
)

(d− 1)!
,
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!���

CR(a, x1, · · · , xm) =
Elem

(
(1 + aw + t)d−1sR, w, d

m+1 + 1
)

(d− 1)!
.

�
� (3.53) ��

CL(a, x1, · · · , xm) = CR(a, x1, · · · , xm),


 (a, x1, · · · , xn) ���� Db,cL,cR,d,m,f(a, x1, · · · , xm) = 0 �����
'(�
 (a, x1, · · · , xm) ���� Db,cL,cR,d,m,f = 0 ���������
(g, h, w, t, sL, sR) ∈ N6 ���� (3.47) ∼ (3.53) ���
����������
�	 (b, cL, cR, d,m, f) �����
� (3.47) ∼

(3.53) �������������� Db,cL,cR,d,m,f = 0 �!����/��
�
� (3.47) ∼ (3.53) 
����������������!������
�� d,m ������!�	��*����	��
Solution(a, b, cL, cR, d,m, f, g, h) ⇐⇒ ∃sL, sR, t, w[

SCod(d,m, f, g, h) (3.55)∧
w > (1 + a+ h)d−1(cL + cR) (3.56)∧
Equal(h, g, dm + 1, t, w, dm + 1) (3.57)∧
Equal(cL, b, d

m+1 + 1, sL, w, d
m+1 + 1) (3.58)∧

Equal(cR, b, d
m+1 + 1, sR, w, d

m+1 + 1) (3.59)∧
Elem((1 + aw + t)d−1sL, w, d

m+1 + 1) (3.60)

= Elem((1 + aw + t)d−1sR, w, d
m+1 + 1)].

�
� (3.47) ∼ (3.53) ���� (b, cL, cR, d,m, f) ������
�	���
�

f = 2d1

+ · · ·+ 2dm

,

��
� (1.54) � (3.47), (3.48) ����
� (1.55) ∼ (1.59) 1'���
(3.49) ∼ (3.53)��

U(a, b, cL, cR, d,m, f, g, h, y9, · · · , yl) = 0 (3.61)

����	� Solution(a, b, cL, cR, d,m, f, g, h)����	���� a ����
b, cL, cR, d,m, f ���	� g, h, y9, · · · , yl �-������� (3.61)���	
� (b, cL, cR, d,m, f) &��������������� Db,cL,cR,d,m,f = 0 �
!��� (3.61) ��������������� �

�� 3.12 ����������� S���� N − S ��������

��
���� 3.9 ��� 3.11 ����� 1 ����1 ���	���
������

U(a, k, y1, · · · , ym) = 0.

�������

U(a, a, y1, · · · , ym) = 0.

64



���� 1 ������ S�����
�� S �������� N − S �
��������

�� N − S ���������������	 k′������

U(a, k′, x1, · · · , xm) = 0

��� N − S ������	��
 k′ ∈ S�����

U(k′, k′, y1, · · · , ym) = 0

�������
 k′ 	���� U(a, k′, y1, · · · , ym) = 0 ���������
�� k′ ∈ N − S����� k′ ∈ S %��
�
 k′ ∈ N − S��� k′ �	� S���

U(k′, k′, y1, · · · , ym) = 0

��������� k′ �	� U(a, k′, y1, · · · , ym) = 0 ����������

 k′ �	� N − S��� k′ ∈ S����� k′ ∈ N − S %��� N − S ��
������� �
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� 4 �

��������(Hilbert’s tenth
problem)

	��%�
���	������&�
��������������

����
����������������	�����
������
������	����������	�����

4.1 ���������

�� 4.1 
��
0∏

k=1

(a + bk) = 1,

���

h(a, b, y) =

y∏
k=1

(a+ bk)

���������� N3	�

��
� M = b(a + by)y + 1�� (M, b) = 1������ q ∈ N ��!�
� bq ≡ a (mod M) ���� b > 0, y > 0 ��

byy!

(
q + y

y

)
= by(q + y)(q + y − 1) · · · (q + 1)

= (bq + by)(bq + b(y − 1)) · · · (bq + b)

≡ (a+ by)(a+ b(y − 1)) · · · (a+ b) (mod M)

≡
y∏

k=1

(a+ bk) (mod M)

�
y∏

k=1

(a+ bk) < M,
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��

z =

y∏
k=1

(a+ bk) ⇐⇒ ∃M, p, q, t
[(
b > 0

∧
M = b(a + by)y + 1

∧
bq = a+Mt

∧
z < M

∧
z +Mp = byy!

(
q + y

y

))∨
(z = ay

∧
b = 0)

]
.

Æ��� xy, y!,
(

x
y

)
�����������

h(a, b, y) =

y∏
k=1

(a+ bk)

������ �
����	 (∀k)≤y &	 k ��#��� y �����
 (∃k)≤y &	��

����� y ����� k
!���	 (∃k)>y &	������ y ���
k�

�� 4.2 ��� u ≥ 1, �����
�

P (y, k, x1, · · · , xn, y1, · · · , ym), Q(y, u, x1, · · · , xn)

��

(1) ����� 0 ≤ y, x1, · · · , xn ��

Q(y, u, x1, · · · , xn) > u,Q(y, u, x1, · · · , xn) > y,

(2) 
�� 0 ≤ k ≤ y ��� 0 ≤ y1, · · · , ym ≤ u� ����� (x1, · · · , xn) ∈
Nn ��

|P (y, k, x1, · · · , xn, y1, · · · , ym)| ≤ Q(y, u, x1, · · · , xn).

��	 (a) � (b) ���� (y, x1, · · · , xn) ∈ Nn ��!��

(a) (∀k)≤y(∃y1, · · · , ym)≤u

[
P (y, k, x1, · · · , xn, y1, · · · , ym) = 0]

(b) ∃c, t, (a1, · · · , am)>u, (y
(0)
1 , · · · , y(0)

m )≤u[
P (y, 0, x1, · · · , xn, y

(0)
1 , · · · , y(0)

m ) = 0∧
t = Q(y, u, x1, · · · , xn)!

∧
(1 + ct) =

y∏
k=1

(1 + kt)

∧
(1 + ct)

∣∣∣a1

u∏
j=1

(a1 − j)
∧ · · ·∧(1 + ct)

∣∣∣am

u∏
j=1

(am − j)

∧
P (y, c, x1, · · · , xn, a1, · · · , am) ≡ 0 (mod 1 + ct)

]
.
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��
�%�
 (b) ⇒ (a)�� (b) ��������� 1 ≤ k ≤ y �����

!�� k = 1, · · · , y�� pk � 1 + kt ��������� y
(k)
i � ai � pk(k =

1, · · · , y, i = 1, · · · , m) ���������
� y
(k)
i , (i = 1, · · · , m, 1 ≤ k ≤ y)

��

(1) 1 ≤ y
(k)
i ≤ u,

(2) P (y, k, x1, · · · , xn, y
(k)
1 , · · · , y(k)

m ) = 0.

%�
 (1)�Æ�

pk|(1 + kt), (1 + kt)|(1 + ct), (1 + ct)
∣∣∣ai

u∏
j=1

(ai − j), i = 1, · · · , m,


 pk ��

ai

u∏
j=1

(ai − j), i = 1, · · · , m.

�� pk �������� 0 ≤ j ≤ u �� pk|(ai − j). ����

j ≡ ai ≡ y
(k)
i (mod pk).

� t = Q(y, u, x1, · · · , xn)!, pk|(1 + kt) �� pk, t 5���

pk > Q(y, u, x1, · · · , xn) > u ≥ j,

�� y
(k)
i � ai � pk �������

y
(k)
i = j.




0 ≤ y
(k)
i ≤ u.

���
 (2)���

1 + ct ≡ 1 + kt ≡ 0 (mod pk),

k + kct ≡ c+ kct (mod pk),

��

k ≡ c (mod pk).

�

y
(k)
i ≡ ai (mod pk),

��

P (y, k, x1, · · · , xn, y
(k)
1 , · · · , y(k)

m ) ≡ P (y, c, x1, · · · , xn, a1, · · · , am) ≡ 0 (mod pk).

��Æ���

|P (y, k, x1, · · · , xn, y
(k)
1 , · · · , y(k)

m )| ≤ Q(y, u, x1, · · · , xn) < pk,
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��

P (y, k, x1, · · · , xn, y
(k)
1 , · · · , y(k)

m ) = 0.

�
 (a) ⇒ (b)����� 1 ≤ k ≤ y��� y
(k)
1 , · · · , y(k)

m ��

P (y, k, x1, · · · , xn, y
(k)
1 , · · · , y(k)

m ) = 0,

0 ≤ y
(k)
j ≤ u, j = 1, · · · , m.

�

t = Q(y, u, x1, · · · , xn)!.

��
y∏

k=1

(1 + kt) ≡ 1 (mod t),

������ c ≥ 0 ��

1 + ct =

y∏
k=1

(1 + kt).

�� 1 ≤ k < l ≤ y �
(1 + kt, 1 + lt) = 1,

����� p|(1 + kt), p|(1 + lt), p > 1��� p|(l − k), p < y��

Q(y, u, x1, · · · , xn) > y,

�� p|t, %���� {1 + kt|k = 1, · · · , y} ���5�����������
�!� i, 1 ≤ i ≤ m��� ai ��

ai ≡ y
(k)
i (mod 1 + kt), k = 1, · · · , y,

ai > u, i = 1, · · · , m.
� (1 + kt) �� c(1 + kt) − k(1 + ct) �� k ≡ c (mod 1 + kt), ��

P (y, c, x1, · · · , xn, a1, · · · , am)

≡ P (y, k, x1, · · · , xn, y
(k)
1 , · · · , y(k)

m ) = 0 (mod 1 + kt).

��� 1 + kt (k = 1, 2, · · · , y) ���5���� 1 + kt ��

P (y, c, x1, · · · , xn, a1, · · · , am), k = 1, · · · , y.
���� 1 + kt ��	��� P (y, c, x1, · · · , xn, a1, · · · , am)�
 1 + ct ��

P (y, c, x1, · · · , xn, a1, · · · , am).

� ai ≡ y
(k)
i (mod 1 + kt), k = 1, · · · , y, �� 1 + kt ��

ai − y
(k)
i .
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�� 0 ≤ y
(k)
i ≤ u, �� 1 + kt ��

ai

( u∏
j=1

(ai − j)
)
, i = 1, · · · , m.

� 1 + kt ��5���� 1 + ct ��

ai

( u∏
j=1

(ai − j)
)
, i = 1, · · · , m.

�

�� 4.3 
 P �������
�����

S = {(y, x1, · · · , xn) ∈ Nn+1 | (∀k)≤y ∃y1, · · · , ym

[P (y, k, x1, · · · , xn, y1, · · · , ym) = 0]}
���������
��	 (∀k)≤y ������

��
��%���
���	��������

(∀k)≤y ∃y1, · · · , ym[P (y, k, x1, · · · , xn, y1, · · · , ym) = 0]

⇐⇒ ∃u (∀k)≤y(∃y1, · · · , ym)≤u [P (y, k, x1, · · · , xn, y1, · · · , ym) = 0].

������������� u = 0 ������
� P 	!
	�

P (y, k, x1, · · · , xn, y1, · · · , ym) =
∑

a+b+q1+···+qn+s1+···+sm<N

cyakbxq1

1 · · ·xqn
n y

s1
1 · · · ysm

m .

��

N >�
�P���.

��
�

Q(y, u, x1, · · · , xn) = u+ y +
∑

a+b+q1+···+qn+s1+···+sm<N

|c|ya+bxq1

1 · · ·xqn
n u

s1+···+sm .

�����
� Q ���� 4.2 �
��Æ���

y∏
k=1

(1 + kt),

u∏
j=1

(ai − j) =
u∏

j=1

(ai − u− 1 + j)

���������� 4.2 �	!������ S ����������	
(∀k)≤y ������ �
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4.2 �����������

�� 4.4 ����������������
�����
��

��
����
��� f(y(m)), g1(x
(n)), · · · , gm(x(n)) ����������


��

h(x(n)) = f(g1(x
(n)), · · · , gm(x(n)))

�����������

y = h(x(n))

⇐⇒ ∃t1, · · · , tm[t1 = g1(x
(n))

∧ · · ·∧ tm = gm(x(n))
∧
y = f(t1, · · · , tm)].

�	!������ h(x(n)) ������
����
������ f(y, x(n)) ��������
��

h(x(n)) = min
y

[f(y, x(n)) = 0]

�����������

y = h(x(n)) ⇐⇒ (∀t)≤y[f(y, x(n)) = 0
∧

(t = y
∨
f(t, x(n)) �= 0)].

��� 4.3 ����	 (∀t)≤y ���������� h(x1, · · · , xn) ����
��
��
��
��� f(x(n)), g(x(n+2)) ��������� h(x(n+1)) �

��

h(0, x(n)) = f(x(n)),

h(y + 1, x(n)) = g(y, h(y, x(n)), x(n)),

���
�� h(x(n+1)) ���������� 2.4 �
��� T (i, w) ���
����

h(0, x(n)), · · · , h(y, x(n)),

������ u ∈ N ��

T (i, u) = h(i, x(n)), i = 0, 1, · · · , y.

��

z = h(y, x(n)) ⇐⇒ ∃ u(∀t)≤y

[
T (0, u) = f(x(n))

∧ (
t = y

∨
T (t+ 1, u) = g(t, T (t, u), x(n))

)∧
z = T (y, u)

]
,

���� h(y, x(n)) ������ �

�� 4.5 ���������������
����
���
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��
������ k ∈ N, ���� Ck(x) = k���� 2.1 �

C0(x) = N(x) = 0, C1(x) = C(x) = 1

��
�����

Ck+1(x) = Ck(x) + C1(x),

�� Ck(x) = k ��
����Æ��� x+ y, xy �
����������
�����
�

P (x1, · · · , xn)

������
��� Ck(x), x+ y, xy �����������������
�
���
���

�⇒	%�
�!���������
������ f(x1, · · · , xn) ��
�����������������
� P,Q ��

y = f(x1, · · · , xn) ⇐⇒ ∃t1, · · · , tm
[P (x1, · · · , xn, y, t1, · · · , tm) = Q(x1, · · · , xn, y, t1, · · · , tm)].

��� y, t1, · · · , tm, ��� 2.4 ������� u ��

y = T (0, u), ti = T (i, u), i = 1, · · · , m.

���� f(x1, · · · , xn) �	�

f(x1, · · · , xn) = y

= T
(
0,min

u

[
P (x1, · · · , xn, T (0, u), · · · , T (m, u))

= Q(x1, · · · , xn, T (0, u), · · · , T (m, u))
])

= T
(
0,min

u

[
|P (x1, · · · , xn, T (0, u), · · · , T (m, u))

−Q(x1, · · · , xn, T (0, u), · · · , T (m, u))| = 0
])

���� f(x1, · · · , xn) ��
��� P,Q, T (i, w), |x− y|���������
�������
����
�⇐	�
�!��
����������������
�

C(x) = 1,

S(x) = x+ 1,

N(x) = 0,

Un
i (x1, · · · , xn) = xi, i = 1, · · · , n

���������� 4.4 ������������������
���
���
����
��������� �
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4.3 �����������

�� 4.6 � S ����������� N − S �����������

DS(x) =

{
0, x ∈ S

1, x ∈ N − S

��
���

��
�
��� DS(x) �
������� 4.5�� DS(x)�������
���������	����

y = DS(x) ⇐⇒ ∃y1, · · · , ym[D(x, y, y1, · · · , ym) = 0].

����)�������

D(x, 1, y1, · · · , ym) = 0

��� N − S ������	������ N − S �����������
DS(x) ��
��� �
�� 4.7 ����������������	�������

��
�Æ������������� S���� N − S �������
����

D(x, y1, · · · , yn) = 0

����� S ������	��
���������������	�
��������� x ∈ N�������������	 x ∈ S����

���������	��������

DS(x) =

{
0, x ∈ S,
1, ∈ N − S.

���� DS(x) ��
������
����
���� 4.6 %�����
���������������	������� �
��� 4.7 ����������
��

�� 4.8 ����������������	�����

��
�����������

D(x1, · · · , xn) = 0, (4.1)

� Lagrange’s ���!������-�	� ����9�������
�� (4.1) ������������
���������

D
(
(x2

1,1 + x2
1,2 + x2

1,3 + x2
1,4), · · · , (x2

n,1 + x2
n,2 + x2

n,3 + x2
n,4)
)

= 0. (4.2)

������
�����������������	���������
�������� (4.2) �	��������
���������� (4.1)
�	����������� 4.7 �
�%���������������
�������	����� �
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